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1. • The course taken by water in the canal system of sycon is 

. 2. 

~~ 

(A) Osculum ---+ Spongocoel -+ Apopyle .---+ Prosopyle ---+ lncurrent canal --> Ostia 

(B) Osculum --> Incurrent canal ---+ Prosopyle --> Apopyle --> Spongocoel ---+ Ostia 

(C) Ostia --> Incurrent canal ---+ Prosopyle --> Spongocoel ---+ Radial canal Apopyle -> 
Osculum 

IJllf Ostia --> Incurrent canal --> Prosopyle --> Radial canal Apopyle --> Spongocoel -> 
Osculum 

Gll8'c$rTaru@j5lm .ffiire;rrruQHTtU w@TLQ)~~Q) ~ir Ga=ru@;Jti> Ql~~~Lti> . 

(A) ~ioiu®Q)L.i:i -> ioiuurrmG~rrlru --> ~GurrG1>uru ---+ 4Gl}'rrG.nG1>uru -+ ~ ... J.:_Qs:ru e;rrruQlrru'..J --> 
~Qo~lUIT 

(B) ~W®Q)W ---+ 11.....L.G6Q.> B;ITQlQlfTuJ ---+ 4Gl}'1T~8'1T'1'>UID --> ~GUITGl>UQJ --> ioiuurrmG~rr6'b --> 
~Qu~lUIT 

(C) ~ffi>~UJrr -> ~ ... .L.Q6ru s;rrrururru'..J .-....+ LjGl}'rrG6rrml'.lru .-....+ wurrmG~rrSQ> --> ~'l8i.s;rrruQJrrti.J 
~GurrQ>uQ) ---+ ~ioiu@)Q>LD 

(D) ~ioiu~UJrr -> f.l.....L.Ga:ru s;rrru':iUrru'..J -> 4Cl}'rrCe:rrmuru ---+ ~'l8is;rrQ>Q.l rruJ ~Gurrrouru --> 
ioiuurrmG~rr6'b --> ~ioiu@)'1.li..i:i 

Match the following and choose the correct option : 

(a) Heliopora 1. Eye coral 
(b) Corallium 2. Star coral 
(c) Astrea 3. Blue coral 
(d) Oculina 4. Red coral 

(a) (b) (c) (d) 
(A) I 2 4 3 
(B) 4 3 I 2 

Jlll"'3 4 2 1 

(D) 2 I 3 4 

Gurr@~~c5 

(a) jjllfil Q$l GUJ rr: .Gu rrl}' rr 1. s;@T LIQJWLD 

(b) Q c!li ITIJIT Q$j UJ W 2. JliL~~l)"U UQJWLD 
(c) 4wL...iflUJrr 3. .ffiQ)u uQJwi..0 

(d) .!9l &@;Q$J QITIT 4. 5lruu4 u uQJwi..0 

(a) (b) (c) (d) 

(A) 1 2 4 3 
(B) 4 3 1 2 

(C) 3 4 2 1 

(D) 2 1 3 4 
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3. (A) Ascaris can also respire aerobically 

(R) If free oxygen is. present in the host intestine, it can utilize it since Ascaris possess 

cytochrome oxidase 

(A) (A) is correc.t but (R) is wrong 

(B) Both (A) and (R) are wrong 

JJilf" Both (A) and (R) are correct and (R) explains (A) 

(D) Both (A) and (R) are correct but (R) does not explain (A) 

(R) G6l®Ji>~rni>i5luSlm lLL'61w 48i"'°1B?6BT Lwm uL..~w. ~'1os;rnflw ~6BT LL'61w Q>6LGLrr®G17mb 

~&IOnS!Gu;iu LQrm~rrw o:!>ta>~ tLuGUJrr.tl~~ ~~~Qi :!...Wm epa>!!JuSlru s;QJ1TM8i~Lb 

(A) (A) sifl . ~Gnrrw (R) ~QJgJI 

(B) (A) LD!D~Li> (R) @IJ~@Li> ~QJgit 

(C) (A) wd>~Lb (R) ®'l~@Lb <"Jrfl , tDd>WJl.b (R), (A) roQJ 61Slm.$®£!D~ 

(D) (A) w!D~Lb (R) @'l8iGT@Lb <'fifl, ~~rrw (R), (A) ~ru 6lSlm.9>a;6lSlQ>Qlro 

4. The larval stage that, is present in the flesh of pig and is called "Measley pork". 

(A) Miracidium 

Jllf Cysticercus 

(C) Cercaria 

(D) Onchosphere 
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5. • Sexual diamorphism is a characteristic feature of 

(A) Hirudinaria granulosa 

(B) Megascolex marutii 

(C) Pheretima Posthuma 

Y Nereis diversicolor 

urrru G6l..l!iJIDJGOLDB;GTT @ft,~ '2..u5lrflu51~ QP8;.$hu U~UfT@jLD 

(A) ~f.!511)-GbO"TrTlUJrr .$1rrrrw1Grorra:rr 

(B) Gtns;ioiuGs;rrrod;ioiu ~ 

(C) •
0
.Gu1n.:..ia-tnrr urrioiu~JLDTT 

(D) £rflioiu roL6l..HT §IGe;rr ro r'r 

6. Which one of the following is a living fossil? 

(A) Peripatus 

Jilf"' Limulus 

(A) GurflurrL...Lioiu 

(B) Pheretima 

(D) Palamnaeus 

(B) 0°.LSlrflLl2.LDTT 

(D) urrrot.OGJ!iu5lUJioiu 

7. Which of the following statement is not true in the case of peripatus? 

(A) The tongue lies dorsally 

(B) There are no digestive glands connected to the stomach 

Jll!f Crural glands are seen on all the legs 

(D) The secretions of slime glands are similar to those of spider's web 

.$~s;rr~u6l..l!Di6lru ~ft,~.$ sn!DIDJ QurflurrLLQ'lmH.J Gurr<!!J~~QJQ')l)u5lru ~~60LD@Q:ib1>ro? 

(A) J!iTT.S@j QP~@jU4!DHlru ~Q)LD,!b~m'11°~ 

(B) ruu51J!>Ql!D ~L..iit brfb~iJ Ga=rfltnrrQT6 Bil)"tSle;~t.O 8>TTQRTTUU@~1.1~Q)Q>Q) 

(C) d;(!!)IJQl a;17LSl8>m ~Q)Q>rr.$ a>TTW8>~§>.JLD s;rrQRTTUU@t.0 

(D) Gs;rrQ')wB= s;17L.Slu5l~ s;17uq MroJii~ rumQ)u51~ 8f1JuLSlrf>®@mQRTTUJTTQT~rr8>@<!!J.$®t.O 
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8 . Radula is found in all classes of molluscs except • (A) Plecypods 

iJlll' Cephalopods 

(C) Gastropods 

(D) Aplacophorans 

@~~ QJ®LI4 GLOro~L'°1u.Slro 1Jrr@Q>rr @Q>Q)Q) 

(A) Qu"51§1C:urrur 

(B) Qa:uurrC:'° C:urrur 

(C) 8irrwL...C:l}"rrCurrLrr 

(D) 6)t5lQ>.$C:a;rr:. C:urrl}Qrw 

-
9 . Pearl oysters belong to class 

Jiii' Pelecypoda (B) Gastropoda 

(C) Cephalopoda (D) Scaphopoda 

@~6 5lut51a;ilr @!!>fb QJ®UQ'lu6 ~rrir,d>{bQ'lQJ 

(A) Qu~§lC:urrLrr (B) s;rrw L...C:11rr<::u rrLrr 

(C) Qlf.".uC:Q>rrC:urrLrr (D) wa;rrCu rrGu ITLIT 

10. Madrepoite and Tiedmann's body axe associated with which of the following system? 

(A) Nervous 

(B) 

(D) Blood vascular 

(A) JDIJlD4 

(B) lL611Bl"Qj 

(C) ~a..04Q)rr~l}"ro 

(D) ®®~®WQ> 
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11. • Which one of the following is a poisonous snake? 

, NajaNaja 

(B) Scolecophidia 

(C) Python reticulatus 

(D) Eryx johnii 

@QJ!D!Dlru ~~Gl.J 6l51~@Gi"rm urn.04? 

(A) ,!J)rr~rr ,rnrr~rr 

(B) ~C:a;rrrur:r:B;Ga;rrDlGL 

(C) ~U~$J;IT~ Grn: ... tq-Bi®GruL..L~ 

(D) rr618;~ Q~rr~ 

12. Retrogressive metamorphosis is seen in 

(A) Balanoglossus 

JJll'f" Ascidia 

(C) Fishes 

(D) Amphioxus 

(A) DJC:ruC~rr.$lmrro!t1~ 

(B) ~§lll}-LUIT 

(C) i.O~a;m 

(D) ~Lbt5111Jrrffi~w 

13. Which fish is known as 'Dog Fish'? 

(A) Rohu 

(C) Whale 

(A) ~flrr® 

( C) ~i..Ol ffiJ a;ruLb 

7 

(B) Catla 

Jllff Shark 

(B) a;L.GUrr 

(D) ~!J)IT 

SIZ0/16 
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14. Which is the largest frog in the world? 

(A) Rana hexadactyla 

(B) Rana Tigrina 

(C) Bufo 

.P' Rana Goliath 

!!._Q)$166f uSJ.g;u Qurll1U :2)6l.lQ'lrOTT ~61llt.b GT~? 

(A) IJrr~rr ~8>a:L6..~a>rr 

(B) 1J rr mrr ~6.. ifl mrr 

(C) u~aurr 

(D) 1JrT61llrT as;rr"5l !U rr ~ 

15. Which of the following is a marsupial? 

(A) Prototheria 

(C) Mesotheria 

(A) Ljaf}'rrLCLrr~rlllLirr 

(C) tEC:a:rr~ifllUrr 

(B) Eutheria 

~ Metatheria 

(B) ~~rll!Urr 

(D) GLOLLrr%rflUJrr 

16. Which is not a gland present in the skin of mam~als? 

(A) Sweat gland 

(B) Oil gland 

(C) Mammary gland 

/lfl'f' Pituitary gland 

(A) 661 ILI rr Q'lQ.J .inl)u t5l 

(B) GT~m~ <"n1Jut51 

(C) urrfi> &f}'Ut5l 

(D) t.Sl L..iy,L..LrTl <'nflU t51 
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17. •In prototheria, a marsupial (epipubic) bone is present, which resembles 

(A) Eutheria ,,,, 
Metametheria 

(C) Reptiles 

(D) Aves 

(A) ~~ifl1Urr 

(B) GtnL.Lrr~ITlUJrr 

(C) rurrir QJ GGT 

(D) U!J)~QJBiroIT 

. 
18. ------is an ornamental fish. 

(A) White carp 

(C) Tuna 

(A) QQ.Jrorr~~ .,;rriru 

(C) tq.~Qlrr 

19. Ba ngarus is commonly called 

(A) King cobra 

IJllf' Krait 

(C) Sea Snake 

(D) Coral Snake 

(A) • @11rrt:Q ,!I>IT<'!;i.b 

(B) e;L..@GlS'lrt'lUJQJ-

(C) e;Lru urri.bLJ 

(D) uQJwu urri.b4 

9 

Jlllf" Black molly 

(D) Tilapia 

(B) B>g)!ULJ tnrrQ$1 

(D) /,} Q) ITLJL.S'l lU IT 

SIZ0/16 
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20. The process of cell division that keeps the chromosome number constant from e1e 
generation to other 

(A) Mitosis ,. Meiosis 

(C) Endo duplication (D) Replication 

@QiQJ~a; Q6Q)u@)U4, @C:1prC:LOrrC:11rrt.O ~'8fir~8;g)e; ~g)QT~ 11.ffi~~8i'1fl~t.O l.OITlD!DLD ~g)LUJrTLDQ) 

e;rr8;~Q"TlD~ 

(A) ~LDL.Lrr.fl~ (B) t.61UJrr.fl~ 

( C) ~~ @ryL.tq.~fbbi.> (D) Gr;umlC:s;~Q"T (~) tSlrflp;ru 

21. An enzyme that cuts DNA molecules at a specific recognition site is called 

(A) DNA polymerase 

(B) RNA polymerase 

Jllf' Restriction Endonuclease 

(D) Polynucleotide Kinase 

DNA e!-JlWB>&mlD ~® ®J6lut51L..L LI@>~uSlru GaiL...L uUJ6isru@tb Gtfirr~ 

(A) DNA urraS1LDC:r;w 

(B) RNA urr'1S1tnC:r;w 

(C) GJTw1q.rflS;~m ~~Lrr ,tt;ilY>&mic:UJmi 

(D) urr'6l~iy,&'1flC:UJrrQlLL ma;C:QJTw 

. 
22. Golgi apparatus functioning as a secretory organelle, is most abundantly formed in 

(A) muscle cells 

JJ#{" pancreatic cells 

(C) neurons 

(D) red blood corpsules 

~® lttlJ"'Q> tuih~~uurra;u u~UJrr~IJ)tb C:urr11 <::&rrQ>~ LQJLI4 @ri.J~ ~~a;inrrMi &rrEimluu@tb 

(A) ~Q'J& QeQ>s;ro 

(B) <!r>m6ilmUJB: Q6Q)s;Gilr 

(C) ,!!ilJLDY6 Qs:rus;m 

(D) .flQJuy @IJ~ ~@6 Q6Q)a;Gilr 
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23. • The RNA that carries amino acids to mRNA during protein synthesis 

24. 

~tRNA 
(B) rRNA 

(C) hn RNA 

(D) vRNA 

.@bi..JQJma; RNA-B;s;Qi-, YIJ'~ ~®QJrr8;s;~~Q-r Curr~ mRNA-Mi(88;@), ~uSlCQTrr ~uSlruriu&"1m ror@~~ 
Qa:Q)@)J <t)Q-r!D~ 

(A) wrr!D!J:lllh RNA - tRNA 

(B) m1J-C!urr<!srru51Q-r RNA - rRNA 

(C) Gjill!)L.iq.CIJ'rr J£liy,8i'1fhuir RNA - hn RNA 

(D) mQJIJ"Q.l RNA- vRNA 

Thylakoids are found in 

""" Chloroplasts (B) G?gi complex 

(C) Endoplasmic reticulum (D) Ribosomes 

Ql~Q)a;rru'..J@&Ql- .@riu® &ITQllTLIU@A!Q-r!!)QT 

(A) @)CQ'Trr<!l)'rrt.Sl mrrw .L ~) a;rrQ.>~ 1LgJ1u 45m 

(C) rorQ-rCLrrtS'l '1TITQu uSl..i;QJQ)Q) (D) m~urr<!srrt.MQ-r 

25. The similarity between DNA and RNA is that they 

(A) are double stranded 

Jlllf" are polymers of nucleotid.es 

(C) have similar pyrimidines 

(D) have similar sugars 

iq..6Tat.'J. lDlD.(!)ILD ~IT.6T"Qr.'] . .@mQJ .@IJ'fililrriq.!i>@>Lh .@md]lU ILQrQT V!d>{!)mLO 6TQrU~ .@mru .@u'*r@CLO 

(A) i@IJ'L(i'f)L Q)L <:!91Q)IDLJ4 Qa;rrooLQ)QJ 

(B) .ffiiy,B;Giril<!turr'8>L lq.Qr urr@ILDira;Qr Qa;rrfililrrLmQJ 

(C) viCIJ" t.SlrJlJSliq.atc$Q)QT.$ Qa;rr'*rLmQJ 

(D) ~Cl)' 6ITMQll)'Q)lU.$ Qa;rrmLQ)QJ 
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26. The cell organelle inyolved in cellular respiration is 

(A) Golgi complex 

cpl' Mitochondria 

(B) Lysosome 

(D) Nucleus 

G6ro e;QJrrs:~Loo Gp;rrLrrymLUJ G6ro "-!!)!LILI@~ 

(A) s;rrQ>~ anL..@~ Q~rr@j~ 

( C) '6> LD L.. C: ur s; rrEilioriq.rfl UJ rr 

(B) Q)ruCs:rrC:6rr l.D 

. (D) ILLo!b(!5 

27. A chromosome with centromere located in the centre is called as 

(A) sub-metacentric chromosome 

(B) telocentric chromosome 

., metacentric chromosome 

(D) acrocentric chromosome 

• 
~® (§CrrrrC:LDrrGs:rruSloo mLDUJuu®~t6lro Qs:Q1-LC:rrrrthlUJrr ~Q)LDJb~®a;®C:LDUJrrt6lEi8T ~~ .@ruQJrrg)! 

~oowB;s;uu@L.D 

(A) ~Q)QIDT-GLDLLITQ6QyL_if)B; ®C:rrrrC:LOrrGs:rrL.D 

(B) 1a.C:Q)rr Gs:ooL..rflii; ®C:rrrrGLDrrG.9:mb 

(C) GLDL..Lrr Qa:ooL..618; ®C:rrrrC:LDrrG.9:rrL.D 

(D) ~B;C:IJ"rr Qs:ooL..615 ®C:rrrrGLDrrG.9:rrL.D 

28. During interphase stage of the cell, which one of the following period is the longest? 

(A) G 1 (First Gap) 

(B) G 2 (Second Gap) 

Jlilf' S (Synthesis) 

(D) M (Mitosis) 

Qs:Q>rol~ '.@arui".".C:uQ\>' ~Q)Q)t6)Q) g/!>~8> a;rrrut..O uSls; ~IDLDrr'8T~? 

(A) Gl (Qj>flQ> .@6¥>LQQJQft) 

(B) G 2 (@rrEiliGT"Lrrl.D @m L QQi"1fl) 

(C) S ("-!bu~) 

(D) M (LD'1>!J>QPB;U U(§UL!) 
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29 .• The process of removal of damaged part of the DNA by an exonuclease enzyme is called 

(A) Incision 

(C) Re-insertion 

(A) @6irr5166irr 

(C) Lfi~@Li:l @Q">Qarr~~Q, 

IJl'f'Excision 

(D) Synthesis . 

(B) ~~ktfbQ~@fb~ U@~urrrr~~Q) 

(D) f2....(!9QJITB;@i~Q) 

30. During protein syr{thesis, termination of polypeptide chain is brought about by 

~ rho (p) factor (B) sigma {o-) factor 

(C) a -subunit (D) P -subunit 

411~ f2....(!9QJ1T8;a;~~6irr Gurr~ 

GLD!i>Ge;rrmGrn.Ju@£!D~ 

(A) (]IJrr (p) a;rr11Ql1Jfl 

(C) a -~6J)~ ~Q)® 

31. · Hybrid vigour is due to 

(A) chiasma 

(C) crossing over 

&;Q)U~611T ffi6JU.Jtb '1"atu~ 

(A) s;UJ'1oLDrr 

(C) @jg»6iG6>~IT LDIT!i>!Dtb 

(B) 6'.$LOrr (o-) a;rrry4iRfl 

(D) p -~(if)~ ~Q)@j 

(B) linkage 

JJllf heterozygosity 

(B) l51QJQ18Tu 4 

(D) a;ruu4 cms=Ca;rr6'L.kt 

32. Human karyotype s are routinely prepared from cultures of 

(A) Liver cells //If' Blood cells 

(C) Kidney cells (D) Sertoli cells 

LD6tfl~Qfl6irr a;mflGU.JrrmLu (_y)6'>l!)UJIT<!6 GfJrrLir}i>~ --- --- Q.!fQ)s;6ffiQ$l®Ji>~ Gs:U.Jd>Eifl& QP6'>!D 

Q.JQTrTLI4 eyiQ)Li:l ~!Du~~ Qs:U:...U.Juu@.tl!D~· 

(A) a;Q)@11Q) Q~c!bm 

(C) 6'g»,£rra; G6~&m 
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(B) @IJ~fJ Qo!fG>.g;Q-r 

(D) Q.!firGurmru Q6Q)&'1r 
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33. Which of the following statements is not true for cancer cells in relation to mutations?• 

(A) mutations destroy telomerase inhibition 

(B) mutation inactivate the cell control 

Jill" mutations inhibit production of telomerase 

(D) mutations in proto-oncogenes accelerate the cell cycle 

£G1:9 Qe;rr@B;s;uuL..@mcorrQJ!f>!&ru ~mru it11£.rhorrrt>!&Qi- e!:Pwtb ~!f>giiGp;rru:.i a:tbLD,(i;fbuuL..LmGU ~ruwrr~ 

QJ IT B;8i) UJ tD 

(A) ~1£.rTLDITlD!DtD iq_GQJrrLDGl)'W ~L.$.ilQJUJ ~~.$..til!D~ 

(B) ~1a.rr1Drrj!>ww G6ru ~LMlEillUJ G6UJg5119Mi G6'u:.i£w~ 

(C) ~ia.rrLDrr!f>wtb iq_GQ)rrLDC:IJw 2-!f>u~ G6uJQJQJ~ ~@B;8;lw~ 

(D) ~1£.rTLDrr!D!Dtb ~G1JrrL.GLrr w!Dwtb ~!bg)l~Qi-~m G6ru s;~,!05l.$® (!il[.$@)6El.$..tl!D~ 

34. The number of toes found in Parissodactyles are 

~ One (B) Two 

(C) Three (D) Four 

35. Which of the following is required as inducers for the expression of Lac operon? 

(A) galactose 

~ lactose · 

(C) lactose and galactose 

(D) glucose 

£C:w ~f6lu~LuuL.LaJJDJ5lru 6J'Q)QJ Q).$ ~uu11rrQ'.lm ~.;;®~.$®1.b fAmrr& G.JUJruu@.5lJD~7 . -

(A) s;rrQJ.$C:urw 

(B) Q>rr8;C:Lrr~ • 

( C) QlfTc'i; C: UT Giu lD Ji> g» i.O s;rrQJB;C: LIT Giu 
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36~ A pregnant woman who has done aminocentosis test finds an extra barr body m her 

embryo. The syndrome which is likely to be associated with the embryo is 

(A) Edward's syndrome 

(B) Sex-down's syndrome 

Jllf Klinefelter's syndrome 

(D) Patau's syndrome 

8ir'rtSIQlllfl QuQRir~!D® ~t.61<!61JTrrGe:bii'TGurfil~ "1"bii'T!!J C:e:rrp;Ei1>61ir ey:ia>Lb Sfl.@p;rurrm urrrr 1!....Lt.by ® W)!iQ')p;.$@i 

.@(!!'JULI~ s.;QRir@t5ltq..$Biuu@.!t'l!D§J· .@fbbiil (Y)QlLO l!....QRrrLIT@itb. @i'1l)DUIT@Bim, @i~)!i6'>PJ8;® '1"fb@!LQr 

Q fbITLfrL.j Q)LUJQ')QJ 

(A) '1"L6l.JrT!q.biil (§Q>,[!)UIT@<'bm 

(B) urrru L~Qr (§Eil>)DUIT@8im 

(C) <'k"lG!flbiiltSlruuJ~ @iQlJDurr@dim 

(D) urrL..Lrr6l51Qi@)"1>!!Jurr@8.im 

37. Extra nuclear inhe ritance occurs in 

Jtltlf" Killer paramecium 

(C) Euglena 

(A) u ITIJ" wfil tu r&Je;GlflQi Q 8i IT Q)Q)l QJ Ql<'J> 

(C) ~.ilG!f!QTrr 

(B) Killer Amoeba 

(D) Hydra 

(B) ~tEurr6l5lbiil Qa;rrQ>blSl QJQ>8i 

(D) Q'l~LIJ"IT 

38. The cytoplasmic unitS of inheritance are called 

(A) Genome 

~Plasma gene 

(A) ~GQTrrtb 

(C) t5lmrrQ\>L.orr ~Q-ra;'1r 

15 

(B) Lethal gene 

(D) All the above 

(B) G8irrruQ)l ~are;m 

(D) GLOQ.>@it:61Ut5lL..L .,!)IQ)QT~LD 
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39. is a fossil Dipnoi. • 
~ Dipterus 

(B) Lepidosirep 

(C) Protopterus 

(D) Neoceratodus 

~® ~QllfuSIJ"ru u5Eiiste;Qf!Eiist L1m~u14QJtb. 

(A) 14ui..i,Qo 

• 
(B) QQ>i5lC:LJTQl8'1JEilst 

(C) LlalJITLC:LITU la.JJ~ 

(D) i£l Cu.mGe:,,aLITLQo 

40. Choose the correct statements about down syndrome 

I. An extra copies of chromosome 21 is attached to chromosome 16 

11. It is often occur due to disjunction 

III. It is usually has three copies of chromosomes 18 

IV. The characteristic include wide flat face and slanting eyelids 

(A) I, II and IV JJllf II and IV 

(C) II, III and IV (D) I, II, III and IV 

LQ.jQT h)mC:JJ1Ttbe;rrQr e:ifltUITQr U~QlQ) a~rr)i>Q~@~~ 6TQ:g~Q.jLD. 

I. o!M.@~rurrar ~® ®arrrrC:LDrrCe:rrtb 21 ®a1JrrCLDrrCe:rrtb 16-C:UJrr@ C:eirJi>~®Liu~ 

II. ~~ ®alfrrGLDrrC:s:rrtbs;Gtflru LSlifl5e;uuLrr~®~~aSlru fL@QJrruuu@&i!I>~ 

Ill. ®C:1JrrGLDrrCe:rrtb 18-ru (lptbLDUJtb BilT"8TUU@£lJD~ 

IV. ~QJ!D!Dl'° ®""rr~etUriwa;m ~e;a>, ~LiW>LILJITQr e;rrQ.> QPBitD LDJD!!)ltb a;~6iS\~a;iolr e:rriUJi>~ 

BilT"8TUU@tb 

(A) I, I.I LDli>ptb IV (B) II LDlDD)ltD IV 

(C) II, III LDJDIJ,'ltb IV (D) I, II, III LD!D~tb IV 
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The brown fat cells have unique protein called 

(A) pyrogen 

(C) collagen 

(A) muGQ"rrGf!ilQ-r 

(C) Ga;rrrorrGf!il~ 

(B) metallothionenin 

JJl"f" thermogenin 

(B) CwL...Lrr~ITQl~Gturr~Q-r 

(D) Q~rrGumQt!il~ 

42. The shape of oxygen dissociation curve for Myoglobin is 

(A) bell shaped 

(C) sigmoidal 

(A) LD~Q.Jt.q.GULD 

(C) bld;LDrruJLID 

(B) straight 

j/lf hyperbolic 

(B) )EEim-L Q.Jt.q.GUtb 

(D) m~uufrGurr'°1d; 

. 43. Exchange of respiratory gases takes place by 

(A) Osmosis Jlillf" Diffusion 

(C) Active transport (D) Lewi's concept 

(A) ru:n:@a;Q>uy (B) ~@Ul)"QJQJ 

(C) Qs:turu l.61® lf>L~~~ai (D) ~u511Giu Ga;rrL...urr@ 

44. "An increase in C02, shifts the 02 dissociation curve towards the right, dissociating 02 from 
· Oxyhaemoglobin" is explained by 

/Bohr effect (B) Haldane effect 

(C) lsohydric shift (D) Chloride shift 

''C02 o::!)lm~ o::!)l~e;rTld;®Lb Curr~ 4.$ronSl~Q-r Q~6lSIL...@.!blQlQ) rublHirr~ ruruuywLDrr&~ ~'1Tmuu@GU~rrQ.i, 

~~a; o::!)ltDTT~ 02 ~.$ronSl~Cwrr®GmrrtS1~'°1®fr>~ tS1rTl.$6iuu@rum~" .@~m @Q>tn 6lSlrorr.$6iQ>rrl.b 

(A) Currir 6lSlmw~ 

(C) m<:s:rrm~L...rtl.$ LDITJD!DLD 
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(B) ~rrruGLm ~mm~ 

(D) ®GWJTQll)"L LDITJi>!!>Lb 
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45. The glycosidic linkage between glucose molecule in maltose is 

46. 

(A) p 1-4 

(C) p 1-2 

(B) a 1-2 

~al-4 

®~.$CB;rrffil LDWJ!lltD lDrr6i>~Lrrffil ~ru.$8ii..!!)15(58;.$16'0)L~UJ a;rrQm"uuffilL.b £~'118>Ce;rr68lB=kt.S .tS1g)Qm"ULJ 

@~ 

(A) p 1-4 

(C) p 1-2 

(B) a 1-2 

(D) a 1-4 

Match the antibody class with their unique I-I chain 

List I List II 

(a) lgM 1. '5 (delta) 

(b) lgA 2. E (epsilon) 

(c) IgG 3. µ(mu) 

(d) lgD 4. a (alpha) 

(e) lgE 5. r (gamma) 

(a) (b) (c) (d) (e) 

~4 5 I 2 3 

(B) 5 4 2 1 3 

(C) 4 5 2 1 3 

, (D) 5 4 1 3 2 

4~nq.urrktuSlm 6U~a;a;~"1T ~~m H 5rf.J.$1aSl~Lm Gurr®~~s;: 

ULktUJW I LILktlUW II 
-

(a) lgM 1. o (Qu~ur) 
(b) lgA 2. & ( '1":ofilQlrTQr) 

(c) lgG 3. µ (uSl!Y,) 

(d) lgD 4. a (4bi:Jurr) 

(e) lgE 5. y ( 6ilTlDIT) 

(a) (b) (c) (d) (e) 

(A) 4 5 1 2 3 

.(B) 5 4 2 1 3 

(C) .4 5 2 1 3 

(D) 5 4 1 3 2 
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47. Synthesis of glucose from non-carbohydrate source, when dietary glucose is not available 

(A) glycogenolysis 

(B) glycolysis 

iil'f" gluconeogenesis 

(D) glycogenesis 

2...61R!T6\Sl~ 6P61)tii ®~.SC:BirrGiu Qu!J)LILILITfh J£lmQ)u5lro, c!hrrrrC:urrQJ~L...C:gL. ~roQ)rr~ 
~61).$&.Wfa;~rol®.ff.~ Quwuu@tii 05(.5.SGa;rriciu ~(5GUrr8ia;tii .@~rurr05t.D 

(A) .$lmITT.SC:B>rr~C:~rrmru61Giu 

(B) .$l~ITT8>s;rrrol""51Giu 

( C) .$1 ~8;C:s;rrJBlG UJ rrQ gi6nfl 61Giu 

(D) .$lionro8;C:a;rrQgi6l!T1""51"1i.> 

48. Under anaerobic condition in the skeletal muscles, pyruvate is converted to 

(A) Acetyl CoA ' 

Jllf' Lactate 

(A) ~61L.mLro CoA 

(C) rorr<'iiC:u..: ... 

(B) Isocitrate 

(D) Malate 

(B) m<::,~m61L.CIJ"L. 

(D) LOrrC:roL. 

49. Which of the following belongs to fibrous protein? 

(A) Haemoglobin 

~ Collagen 

(C) N ucleoproteins 

(D) Pep tones 

£w.s~LQJ!i>mi~ GT~ 1fllTrT LllJ~ QJQ}8jQJUJ6 6rrr'r.ffi~~7 

(A) ~C:LDrr@>C6rrrri.S1Qi 

(B) Qs;rrQ)rrQt!il~ 

(C) J£liy,.$~C:U.Jrr 4C:irrrL.1e.Qis;~ 

(D) GuuC:LrrQis;~ 
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50. The earliest known amphibian from the la byrinthodont fossils is 

(A) Rachi tome~ "1' Ichthyostega 

• 
(C) Anthracosaurs (D) Stereospondyls 

(A) rrrr8;.$1Gun.boo 

(C) c!'tfliiM~IJC:a;rrs=fTIJGu 

51. Cortical granules develop from which of the following cell organelle 

(A) Mitochondria 

(B) Endoplasmic reticulum 

~ Golgi bodies 

(D) Ribosomes 

41J~~ §ls;ms;ro ~ib~ G6ru ~m~l))lut51ru @®JI>~ ~®Q.JfT~!D~ 

(A) mwL..C:Lrr8;&rr~L..it1UJrr 

(B) ~6isrGLrrt51mrra'uL.6l.5i QJ6'">Ql 

(C) a;rrru~ ~Wlu4a;ro 

(D) gi~urrG6rri.ba;ro 

52. Gametogenesis involves the following sequence 

(A) Growth, Multiplication, Maturation 

~ Multiplication, Growth, Maturation 

(C) Maturation, Growth, Multiplication 

(D) Growth, Maturation, Multiplication 

Ga;wL..@s;mlEiiT ~@rurr~Eiil Curr~ piQlLGug)ILi:> 6l.JITlQ'l6 Gs:UJruc$ml6il JblQlQl 

. (A) QH1'1Trr65l . Qu(l!JMLD, @t>lrrQ.j 

(B) Gu@Mi.b, 6l.J'1'Trr65l. @t>lfrQ.I 

(C) @t>lrrQ.j. ru'1'Trr65l. Gu@.$a;i.b 

(D) ru'1'Trr65l. @t>lfr~. Gu(!!)Miili 
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53. • When the sperm nucleus enters the egg, it rotates at an angle of 

(A) 20° 

(C) 90° 

(A) 20° 

(C) 90° 

(B) 45° 

JP"'1so0 

(B) 45° 

(D) 180° 

54. Fertilization membrane formation is a result of which of the following reaction 

(A) Fertilizer - antifertilizer 

(B) Acrosomal 

~ Cortical 

(D) Ooplasmic segregation 

.S(!96lJ(!9fhGU ULQltD @/bfh 6tilbn~u5l~rrru afhlTJDgJl6til8;a;uu@£l!D~ 

(A) B>@6lJIDJfh6U - 6rfhlrrs;®6lJlI.lffhGU 

(B) ~B;a1TrrGa:rrti:i 

(C) LJ!DQf)~s;roe;ro 

(D) '1i!ItSlQ)rr~uS18; fhQf)~ Qfhrr@)~fhQ) 

55. During gastrulation of chick, the primitive streak develops into 

(A) Notochord 

(B) Gut 

~Anus 
(D) Somite 

(A) ap;rn.:_aLrr 8.ilTL 

(B) ~EMT6lJ @>WGU 

(C) wruuLJmw 

(D) Ga:rrmwl.... 
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56. Eutherian mammalian placenta is derived from 

(A) Amnion 

(C) Yolk Sac 

(A) ~t.06!!fl1Lirr6in 

(C) .S(5 ~~6l.jU6G)u 

(B) Allantois 

~Chorion and Allantois 

(B) ~ru6inuruSl~ 

(D) a.smflUJrr6in LDWIDJLD ~ru6inuruSl~ 

57. Consider the statement: 

(A) The amnion is the primary organ of nutrition for the embryo 

(R) The amniotic cavity is filled with the fluid secreted by amniotic epithelium 

(A) (A) is correct but (R) is wrong 

Jill!" (A) is wrong, but (R) is correct 

(C) Both (A) and (R) are correct and (R) explains (A) 

(D) Both (A) and (R) are wrong 

(A) 6l .. HOTT(19ib c$(56l51!f>® ~~~L._~i..0 ~(56'!..JC:~ ~ib6!!fl1Urr~6in (!p~IUu ublRlfl 

(R) . ~ib~UJrriq_.$ 10TutS1~~rol1U Ge:rus;@rrru BTIJffia;uul..L ~IJQILD ~t.O~UJrr6!!Tlru .ffi1Q>!DJB~"11-m~ 

(A) (A) e:rfl. ~mrrru (R) ~Gllg;J 

(B) (A) ~QJ!Pl· ~mrrro (R) e:rfl 

(C) (A) LDW!l)JLD (R) a:ifl. (R) (A)6G)QJ 6151m8;®.$16in!D~ 

(D) (A) LDJDg;JLD (R) @IJ~@Gl!l ~6'l..J!1)J 

58. Axolotl larva becomes sexually matured in case of Amblystoma and is called as 

(A) Orthogeny ~ Neoteny 

(C) Parthenogeny (D) l{egeneration 

• 

~t.Ou61fl~CLrrLDrr6b°l6in ~B;~arurrl..Lru .@mi..O ~uSliflUJru, @mi..O ~uSlrfl .ffilmQ)uSlC:ruC1U .@161fTuGu®.$a; 

~roiu48;a;m (!p~IT6l.j ~Q)LQJQ)~ .@6i.J6llrTJ;OI ~Q)~8;&\C:!DITLD 

. (A) ~ir)'iiC:~rrQ~~ 

(C) urrrr~~C:161JTrrG~~ 
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59~ Match the following 

(a) Epimorphosis 

(b) Morphollaxis 

(c) Heteromorphosis 

(d) Super regeneration 

(a) (b) (c) 

(A) 4 3. 1 

~3 4 2 

(C) 2 3 4 

(D) 3 1 4 

GLirT®~~a;: 

(a) 6T"t5J L£> ITIT ." o LI IT fi1 ioiu 

(b) ID IT IT.°. LI ~6l)d;<On5) ioiu 

(c) Q ~Lht Gr]ln.D rrir .·.LI rr 6\ioiu 

(d) ~~~ - @~Lil.I u)L..Ll 

(a) (b) (c) 

(A) 4 3 1 

(B) 3 4 2 

(C) 2 3 4 

(D) 3 1 4 

1. 

. 2. 

3. 

4. 

(d) 

2 

1 

1 

2 

1. 

2. 

3. 

4. 

(d) 

2 

1 

1 

2 

Plan aria 

Shrimp 

Starfish 

Sponges 

t5l GITG6lll ill lU IT 

@!Drrru 

!DLB'M)rf u)~ 

Lif§BJa;ro 
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60. Which of the following is the most important. cause of animals and plants being driv~to 
extinction? 

(A) Alien species invasion 

rA' Habitat loss and fragmentation 

(C) Co-extinctions 

(D) Over - exploitation 

-
61. lntraviolet radiation from sunlight causes the reaction that produces 

(A) C02 (Carbon dioxide) 

(B) 802 (Sulphur oxide) 

, 0J(0~ne) · 

(D) CO (Carbon monoxide) 

(C) Oa ( 9C6rr~) 
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Area where two ecosystem overlap each other is called as 

(A) Ecotype ~cotone 
(C) Edgeline (D) Niche 

(A) l'F.$C:s;rrmu.:.i 

(C) t0n:...~roru6Gt (D) J516 

63. The exosphere region lacks atoms except that of 

(A) hydrogen and o~-ygen 

(B) oxygen and nitrogen 

(C) helium and oxygen 

Jiii'!" hydrogen and helium 

. . . 
t0r.$6h>C:srr6it>i5lUJr'r &i@B>&lQ> i'ruibmJD~ ~~ll C:Wg)I t0r!h~ &i~B;s;~t.D s;rr6118Tuu@QJ~Q)Q>Q) 

(A) m~LIJ"~6Gt LD!bll)ltb ~.$'1\Sl~6Gt 

(B) ~.i"1\Sl836Gt tod>t!)lt0Q'l)!>Lll~6Gt 

(C) ~'61UJt.0 to!i>Jl)!Lb ~.$"1\Sl~6Gt 

(D) Q')~Lll~OO LDJDtpltD ,W'61UJLb 

64. A lake which is rich in organic waste may result in 

Jlllf' Mortality of fish due to lack of oxygen 

(B) Increased population of aquatic organism due to minerals 

(C) Drying of the lake due to algal bloom 

(D) Increased population of fish due to lots of nutrients 

(A) ~6Gts;ffi'.lm @!Du~ &i~s;rfl6J®t.0 ~B;GillSJ~Qr ®m!D~mrrQ> 

(B) ~rrrurr~ R..u5lrfl6Ulrfu6imlQr @muQu®utb ~~6iifl&®Lb &"1ilLDtb ~~s;rfluu~rrQ> 

(C) 'Jrfla;Qi ~<.1>s;'6\gyrrQ> ru!D!6luC:urr®tb 

(D) ~Qrs;mlm t0rliRH;11oftB;ms; fL(iRTQ.jU Qurr(!!)L..s;Ql' &i~&torrQJ~rrQ> ~~s;rflB;®lb 
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65. 

• 

The animals adjust to severe climatic conditions of Tundra by means of • . 
(A) Loss of sense organs 

(B) Bioluminescence 

Jill" Hibernation 

(D) Predatory life 

~Jf>~IJlJ i5ll]"C~6~~Q.i ~mm .s@~HDIUITm ~L...u G61.Juu .ffilooQ>u9roQT 6'61G1.Hlil®s;Q-r ------­

(Y)QlLDITdi 6LDITQfl.$,tl~!Dm . 

66. Hunting or harvesting of protected plant ~nd animals ~pecies was largely out lawed by 

(A) Forest Conservation Act 

(B) Environmental Protection Act 

JJJ!' Wild Llf e Protection Act 

(D) None of these 

UIT~BilTMUULL ~ITQJl]"ri.JBim LD!i>Wftb 6'6)Q>ri.J@j~'1l (:QJLQJLUJITQ)lQJ~"5}®Ji>~tb ~wiuu~"51CJ.ff>~tb 

UIT~BilTUU~WBiITBi IL(!!jQJITMUULL c!FLLLO 
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• 67. Polytene chromosome was first observed by 

J/11" Balbiani 

(B) Kollar 

(C) Bauer 

(D) . Painter 

(A) urrrut91Urteril 

(B) C:s;rrQ)rr 

(C) C:uLUrr 

(D) GuuS'l•Lfr 

68. The increase in carbon dioxide content of the atmosphere causes 

(A) Ozone depletion 

JJ#f" Green house effect 

(C) Acid rain 

(D) Cremation pollution 

(D) srrtbuQ> lDITNiQr 
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69. 

70. 

• The gene pool becomes large by addition of genes that is brought about by which of the 

following factor 

(A) 

(C) 

Emigration 

Atavism 

,t' Immigration 

(D) Adaptation 

£ij?8i~L corjt~B; a;rrrr~u.mQ> ~®~Qi Gfbrr®LiiSlQ>, ~~.sbil CB=irMuuL...@ ~m615l<;\> Gutfl~rr.$l!D~ 

(A) QQJ'1flCUJ!i>!Dtb (B) @.iLq-C:tudJ!Dtb 

(C) COTLLIT61516tb 

Match : 

List I List II 

(Isolation) (Examples) 

(a) Geographic l. R-ana grvlio · 

(b) Ethological . 2. Bufo fowleri 

(c) Seasonal 3. Snails 

(d) Ecological 4. Bufo vaJliceps 

(a) (b) (c) (d) 

""3 4 2 1 

(B) 4 3 1 2 

(C) 3 4 1 2 

(D) 4 3 2 1 

Gurr®;,~s:; 

uL...~tuQ>I UL1£tlUQ> II 

(~~Q>Wuu@P:,~tb (!PQ>!D) ( cor@P:,~B;a;rrL...@) 

(3) 46151 uSl UJQ} 1. ~[rrliflrr £g,a:'6lC:UJrr 

(b) 8ilT~Q) J!>IUJ!>IT5fila; fbL;,Q'}~ 2. i51~.".Curr.".Gu'1T'6lfil · 

(c) c$ IT Q) ri.J a;'1l 3. Jb;,Q)~8jQr 

(d) ~~Jb!Q)Q) 4. iSl"°.".C:urr C:ru'6lGB=u!Oiu 

(a) (b)" (c) (d) 

(A) 3 4 2 1 

(B) 4 3 1 2 

(C) 3 4 1 2 

(D) 4 3 2 1 
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• 71. A hominid fossil from Ethiopia called 'Lucy' belonged to which epoch of the geological time 
scale. 

(A) Miocene 

Y Plei~tocene. 
(B) Pleiocene 

(D) Oligocene 

• 
.@:(!>~Cu.Jrn.JtSlu.Jrr6l516i> 12..._Qrb'fT "~61" 6TQT!J)QlW8;a;uuL...L Lj6'>~Utq.6l.J.$ @jl)ffiJ@j lD~::!'Qy 6l..l1TW.ffi~ 4~a;1TQ) 

c:!9{LL6lJQ)~ U(!!IQJLD .@@6UIT@)LD 

(A) QlLDC:u.Jrr66TI 

( C) tSl ffilffilCur Boo 

· (B) tSlffi1Gu.Jrr66TI 

(D) ~GlS!Ca;rr66TI 

72. Which of the following is an artificial base analog of thymine? 

(A) Hypoxanthine 

(B) 5-hydroxy methyl cytosine 

~ 5'-Bromourecil 

(D) 5-methyl purine 

£wa;~LGU!iJg11ffi 61"~ Q)~uSlQfloo Ge:UJ!iJQ}a;u.JrrQT Cuw c:!9{QTrorr.$1oo 6T@~~B;a;rrL...Lrr®L.i:i? 

(A) 6'>~C!urrs:rr6TI~~ • 

(B) 5- Ql~tq.r,rrr.$81 uSl~bn~ro 6'>s:L...CLrr616TI 

(C) . 5' -4Cr,rrrCu:irr l!d.C1Jrr6lro 

(D} 5-: uSJ~Q)~QJ o0ot5ll!d.rfl~ 
• 

73. The type of mutation in which Purine is substituted for pyrimidine is called 

(A) Deamination 

(B) Base analc;>gs 

(C) Transition 

?f' Transversion 

.@6i.J6l.J6Bl<'D ~la.IT LDfTW!D~t.Jro t5ll!:J,rfl~8;@) u~rorra; 6BlurfluSltq.~ LDrrgJJ..tl!JJ~ 

(A) ~uSlCQT~m 

(B) Cuw ~QTrurr.$a;m 

(C) iq..r,rrr~6l~m. 

· (D) iq.r,rrr ~mi ru rr"ll'Qi 
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• 74. Match : 

List I List II 

(a) Biogenetic law l. Cuvier 

(b) Modern synthetic theory 2. Hugo de Vries 

(c) Theory of catastrophism 3. Haeckel 

(d) Mutation theory 4. Richter 

(e) Cosmowic theory 5. Huxley . 

(a) (b) (c) (d) (e) 

j,tf 3 5 l 2 4 

(B) 5 3 4 2 l 

(C) 3 l 2 5 4 

(D) 5 3 1 2 4 

Gurr@~~a; 

ULlq.lUQl I UL~UJQl II 

(a) Q"JuC:UJrrGPllAflL.tq..$ 6bl~ L @)66lUJrT 

(b) f!i65QIT Q~rr®u~ C:s;rrL.urr@ 2. ~iy,C:&rr 1&.6i.Jifl.n> 

(c) a;rrL.C:LrrL.C:l]"rr~BlO C:a;rrL.urr@ 3. Q~S;HJQ) 

(d) ~1a.ir LDrTrD!D Gs;rrL.urr@ 4. ifl6LLIT 

(e) a;rH;roC:LDrrC:s:rru5l& Gs;rrL.u rr@ 5. ~8;8:1C:Q) 

(a) (b) (c) (d) (e) 

(A) · 3 5 1 2 4 

(B) 5 3 4 2 1 

(C) 3 1 2 5 4 

(D) 5 3 1 2 4 
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• 75. In mammals, hybrid formed between female horse and male donkey is 

(A) Raphanobrassica 

J}J!' Mule 

(C) Hinny 

(D) Pomato 

UIT~Lllt8iroif1Eiil, Guoo @)~Q'll)8i@)Lb. ~Qar 8i@m~Bi®Lb @6llT8>8iruut516lJTrrru ap;rrmwl.b @6l!TB;Q)LJ~ :?.._uSlrfl 

@6i.i6Elp;Lb ~m1:9.$a;uu@Lb 

(B) t.6l~Qi 

(D) GurrtnrrL...<~Lrr 

76. Which of the following theory explains that the universe was born in a gigantic explosion 

about 10-20 billion years ago? 

(A) Epigenetic 

(B) Recaptulation 

Jll'f' Bigbang 

(D) Pangenesis 

Aiwa;mL @jb~.$ aa;ITLUITLlltmLI11t. 10-20 t51QiQ)lwQ-r ~m@e;~8;@) (!PEin' ~(!!) auQl)rrQ)lawrr@ 

Gru11t~~6 6l$b!Dl t511Jul§Hl.b i51w]b~~ ~Ein'!!)J 6lSIQT.$8iuu@.$111>~? 

(A) ~CJLSlQ~Qfl~.$ 

(B) Q~IT@)~~ 8it!!)l>b 

(C) t51.$u rrri.J6; 

(D) urrm Q~Qfl"'51w 
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77. Which of the following theory is otherwise called Modern Synthetic theory? 

(A) Lamarckism 

(B) Darwin.ism 

(C) Neo-Lamarckism 

~ Neo-Darwinism 

£~&'1ioTL ~.!i>~ C:a;rrL._urrL._1q-m tngiiQuu..Jrr !f>65m Q~rr®uy.$ <::&rrL..urr@ ~®Lb 

(A) Q.>ITLDrrrr 8;.$1&1.b 

(B) Lrrir6lS'l~&i.b 

(C) ,!bJC:UJrr-Q)ITLDrrir.$.!tlc!fi.b 

(D) ,!bJC:UJrr-Lrrrr6!li~c!fLD 

78. Preformation theory was proposed by which of the following scientist? 

(A) Bacon . ~ Swammerdam 

(C) Aristotle (D) Bonnet 

(A) u.$s;Eiir 

(C) ~rflQ\)LITLlq-Ql 

(B) QuQJ rrtniruri.b 

(D) UrTQTL 

• 

79. A type of chromosomal abberation in which the number of genes remains constant but the 

sequence of genes are altered by rotation at l80° is 

(A) Duplication 

(B)· Deletion 

~. Inversion 

(D) Translocation 

~QiQJa>s; ®C:11rr<::tnrr<::s:rri.b t5l!D~8:5lU.Jrrru ~Eiirs;Qi- Gl"~H;mfl.$Q'>s;uSlru wrrJDrrwru ~QTrrru ~6irQJif1mc!f wrr!O) 

®C:11rr<::wrrGsrruS1m LI@>~ 180° ~®i.by.$1JD~ 

(A) ~11L._1q-~ru 

(B) ~ri.J@i,,ru 

(C) ~mQlrr~m 

(D) 1q-11rrmwGQ)rr.$C:s;~m 
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• 80. The scientific name of dung beetle is 

~ Heliocopris bucephalus 

(B) Scaphidium conjunctum 

(C) Scaphidium lunamum 

(D) Leptochirus marina 

LffiJ 6UaArr@@S1Q-r ~ !!51 @S) UJ ru Qu UJ rT 

(A) uSblSl Ctu rrn;r'rL5l{.lu t51\!d.§l C:u bUW 

(B) {.'ius;rrt5ltq-UJl.b a;Q-[Q~8;Ltb 

(C) w~rrt5ltq-UJl.b ~QTIDLD 

(D) Q) UC: UT §1 f]{.'iu LO IT fil 6n'T IT 

81. In India, HCG for induced breeding is sold under the name 

(A) Synahorin Jlllf1" Sumaach 

(C) Estrovest (D) Szhk 

(A) Q>6JDITC:~rrlflQ-r 

(C) rHfuL.C:1J"1TGruwL. 

82. In fishes, Rathke's pouch develops into 

Jiii' Adeno hypophysis 

(B) Neuro hypophysis 

(C) Hypothalamus 

(D) Pineal body 

(B) c!ITLDLD1T66 

(D) Qs;{.'iu8;® 

wQ-ra;mlru f]~Caiu5lm Q)LJu51'61(!9.ffi~ SL®QHTMUU@QJ~ 

(A) ~tq-C:QTIT Q'l~uC:urr.
0

.Q'lu61'11> 

(B) Jf>)y,C:f]rr Q'l~uC:urr.°.mug)Qi) 

(C) m~uC:urr~Q>rrLDGifu 

(D) muEi3ftUJru 2-~u~ 
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• 83. Match the following and choose the correct option 

(a) Dracunculus medinensis (1) M.ites 

(b) Moniezia expansa (2) Snails 

(c) Opisthorchis sinensis (3) Water fleas 

(d) Schistosoma mansoni (4) Fishes 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 4 I 2 

;-{a I 4 2 

(D) 2 3 4 I 

£ws;Q/orLQIT6l.J!i>'iD!D Qurr®~~ a:l'flUJrrm 6lSlmL6J>UJ G?irr.ffiQ~@ 

I (a) t1t1Jrr8>s;G!r@)QJW QLD~Q6Dl6Urfilw (I) 6J>LDL@s;ro 

(b) alDrr~ilUJ'rr '1"8iQ1.iaum6rr (2) JD~Ql~a;m 

(c) ~ u L.Sl "°~p;rrrr .$1"° g) B'Q QTQr 61 "° (3) )f;rrQ~m~ kf,S:ils;m 

(d) 6lQ\.>CLrrG5rrLDrr LDrr6WTCs:rrW1 (4) u)Q1s;ro 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 4 1 2 

(C) 3 1 4 2 

(D) 2 3 4 1 
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• 84. The causative agent of visceral leishmaniasis is 

~ Leishmania donovani 

(B) Leishmania brasiliensis 

(C) Leishmania mexicana 

(D) Leishmania tropica 

85. Which of the following is used for clearing eggs in poultry? 

~ 1% Sodium hydroxide. 

(B) 2% Solution of bleaching powder 

(C) 0.5% yeast 

(D) 1 N Hydrochloric acid 

. (C) 0.5% FFQuL 
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86. Which one of the following is a fumigant? 

(A) Rotenone 

(B) Fluorosilicate 

(C) Carbon tetra chloride 

iJI'/' Hydrocyanic acid 

y Q'l.$1!J,L.L LDQ!>JI>!Drr s; u UJ binu@61..1 §I GT §I? 

(A) G1lrrL.1q-Cmrrbin 

(B) ···Llt@)Cirrr 6lbl51S:;CaiL 

(C) a;rrirubin Gu: .... irrr @JC~mlTQ'llJ"@ 

(D) Q'ljill!)LC:l)rr Q'HFUJIT~6; ~uSlrui.b 

87. Sugarcane scale is caused by 

(A) Saccharicoccus sacchari 

· (B) Phenacoccus Saccharifolii 

Jl'f' Melanaspis glomerata 

(D) Scirpophaga nivella 

,. 
(A) err8;e;rrrtl e;rr.$e;w s:rrd;a;rrrll 

(B) •0.L.J6llTrra;rrS;e;w s:rr.9;e;rrrrl .°.Curr~ 

(C) QLOQ>1TG1T1TWt51~ @)CrorrGL.DCIJ"LLJT 

(D) w&lirCurr.0.Cus;rr JblGGUruQ>rr 

88. Sampoorna, a plant based hormone is used in 

(A) Apiculture 

Jllf' Sericulture 

(A) ~d QJrorj"uy 

(C) uL.@u kJ.651 QJroiruy 
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(B) Moriculture 

(D) Pisciculture 

(B) l.DQlUITl GB'tq- QJQTrruy 

(D) tEbin rumiruy 

• 



89. Which of these is the largest among Marine prawns? 

(A) Metapenaeus dobsoni 

(B) Penaeus semisulcatus 

, Penaeus monodon 

(D) Penaeus indicus 

s;Lru ,ffirflru Q.Jrr@Lilt.61.su GurflUJ @JDrrru ~§1? 

(A) GwurtSl~GGJTUJQu GuruGarrdl 

(B) tSl~GGJTUJW Q5u51Qs:Q.iGe;Lbiu 

(C) tSlt~GmUJrol\> GwrrGQTrrLrr~ 

90. Darwin's Finches were found in which island 

(A) Malay 

(B) Fiji 

Jlilf' Galapagos islands 

(D) Hawaiian Island 

(A) l.DQ)ITuJ iiGl.l 

(B) L5)~-., ~Gl.l 

(C) C:.sQ)uGa;rrbiu iiGl.l 

(D) ~Qi QI rru51 ~ ~Gl.l 

91. Which is not a renewable resource? 

(A) Air 

(C) Land 

(A) a;rr!D!J)I 

(C) .@Q)t0 

(B) Water 

~Minerals 

37 

(B) ~~QSl!fir 

(D) a;QflLDQJQTt0 
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92. The regulatory authority of water quality in India is • 
(A) Water Supply, Sanitation and Sewage Disposal (WSSD)' 

(B) National Waste Land Development Board (NWDB) 

T Central Pollution Control Board (CPCB) 

(D) Central Public Works Department (CPWD) 

93. Chipko Movement was initiated at 

(A) Salkani Village 

(B) Thane 

(C) Chhatisgarh 

Jl'f Tehri-Garhwal District 

(B) ~rra68T 

(C) s:L..i...w&rr 

(D) GL&ifl-&rrl'rGUrrru LDrr6l.JL..Li..D 
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94. Okapi, a member of Giraffe family is found only in 

(A) Holarctic Region 

J/I!' Ethiopian Region 

(A) C~rrrurrrr.9;'48; U@i~ 

(C) 6T~~C:turrL5ltu6lrr LI®~ 

95. Wallace's line runs between 

Jiff' B;ui and Lombok 

(B) Bali and Java 

(C) Bali and Borneo 

(D) Bali and Sumatra 

6U rrru rrroiu \'.;a;rr@ 6TQJ ii> r6l 0016rl LC~ tu a;rrEil!alu u @$1 JD f9J 7 

(A) urr615l tni!>witb C:rurrtbC:urrd;@i 

(B) UIT~ tnJ:bgiitb ~rrQJrr 

(C) urr6151 LOfDglltb CurrrrOOlC:turr 

(D) urrrol tnfiJ.!1)1tb 6iLD~~irrr 

(B) Nearctic Region 

(D) Oriental Region 

(B) ~turri'r8;'48; U@.i~ 

(D) ~ITltu~LQJ U®:§ 

96. Eutherian mammals are completely absent in 

(A) Neo tropical Region 

(B) Ethiopian Region 

(C) Oriental Region 

~Australian Regi~n 

~~rtltu6irr urr~L..1.q.a;~ C!:PrDr6l~LDIT\$ B;IT~ULIT~ LI@);$) 

(A) ,!btC:UJrr @CirrrL518;a;Qi LI®:§ 

(B) 6T~~C:turrt5ltu6lrr U@.i~ 

(C) - 9rfltu~LQJ U@.i~ 

(D) ~roiuL.C:ir'6lUJ6lrr U@.i~ 
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• 97. The internal nuclear reorganization without Amphimixis within a single individual of 

98. 

99. 

Paramecium aurelia is called· 

(A) Autogamy 

(C) Cytogamy 

(B)~phimi,··ds 

, Endomixis 

u rrrJ1.Mhu t.O &i rfl"5l tLJ rr"51Qi ~t.O t51 uSl B;W)Qi.i ~Q.lQ) rr ~ ,[5Q"l d;;l u IJ)I Lb :LL.a;®QSl Qi- LD gw &imLD6LJ 

------ '1"mgw &ibl>w&s;uu@Lb. 

(A) ~L.(;Lrre;rruSl (B) ~t.0.
0

.t51uSl8iWlw 

( C) bl>a{:: LIT 6i IT uSl (D) .ormGLrruSlii;<OTISl~ 

(A) In freshwater protozoans, the osmotic pressure is higher than the surrounding 
medium, which leads to continued intake of water. 

(R) The contractile vacciole maintains water balance by throwing out periodically the 
excess water, which if not done might lead to inflation. 

(A) (A) is correct, but (R) is wrong 

~, Both (A) and (R) are correct and (R) explains (A) 

(C) Both (A) and (R) are correct but (R) does not explain (A) 

(D) Both (A) and (R) are wrong 

(A) fbmblir yC:f}"rrL.GurC61TQ.JIT8i.$'1l1Ql, ~@&QH.J4 &l@~lD ~~Q>Q16 a;Jf>!15l11..j'1T61T ~ui;~Q)~ QSlL 

&i~e;LDrrc$ 1Lmmp;rrru, P,ir ILL..Gs:QiruQ.i @Q)L6b1Lrr~ /])Q">d;;lugi1Lb 

(R) 8i@ri.i® ®uSl~c$ro ~irs:w.tb!Q)Q)uu@~ill u~bl>lU6 Gs:u'..JQJ~rrru , @Qlu l9Q)LGlU 1Lu5lrflu5l6ir 

ILL'61W 1Larm ~~s; ~rflQ)m QruG'ft1GlUJDg1ftD. @wmQ)GlUdlru 1Lu5lrflu5lm lL.LQJ roMLDQ>Lll..jLb. 

(A) (A) erfl, ~68lrrru (R) pjQJl!)l 

(B) (A) UlJDgJIW (R) @IJ'ailr@i.bs:ifl. LDJDglf W (R), (A) 6J)QJ QSlQT.$@;.$1!!)~ 

(C) (A) lDJDgJll.b (R) @11ailr@t.0 6rft , ~'8Trrru (R), (A) mru QSlQTB;s;QSlQ.lroQJ 

(D) (A) illrDIJ)lill (R) @fJl'iiilrr@ill ~ru!PI 

.. 
In sponges, rnserve food materials are stored in · 

(A) Pinacocytes JJlll"Trophocytes 

(C) Thesocytes (D) Porocytes 
. 

u~s;G'lt1Qi, <:B:uSlB;s;uuL..L IL~~u Gurr@Lc$W @QJ!D!J5lw C:s:uSl~Q)QJ.$c$UU@.$lm!!)68T 

(A) tSl~e;rTQ).!fL..@s;ar 

(C) ias:rrmsL@a;m 

(B) L..CfJITGurrm.!FL..@s;w 

(D) <:urr<:fJrrQ)s:L..@s;m 

SIZ0/16 40 



,. 

• 100. Match the following: 

(a) Dactylozooid 

(b~ Pneumatophore 

(c) Hydrophillium 

(d) Nectocalyses 

(a). (b) (c) 

(A) 4 l 3 

(B) 3 2 4 

(C) l 3 2 

Jll1f 2 4 1 

Qurr09~~8i: 

(a) Lrr8imLGQllf~"1>6l.JfTli.J@ 

(b) ~ll..jC::tnl....CLrro"oGurrr'ra;'"1T 

(c) m~d!l)rr.
0

.t5JruQ$Jwt.b 

(d) Q jI>.$GLrr s;rrmQ>§l~ 

(a) (b) (c) 

(A) 4 1 3 

(B) 3 2 4 

(C) 1 3 2 

(D) 2 4 1 

101. A free living Trematode is 

(A) Planaria . 
(B) Fasciola 

(C) Taenia 

JJl'f' Schistosoma 

1. 

2. 

3. 

4. 

. (d) 

2 

1 

4 

3 

1. 

' 2. 

3. 

4. 

(d) 

2 

1 

4 

3 

~ BiUJQJrTW~ L...Q17wGLrrLar 4~ 
/. '· 

(A) t5lwC6Uliflwrr 

(B) .°oC::u§lC::UJITQllT 

(C) 1.R.~IUIT . 

(D) §l~C::Lrr(!QrrLOIT 

Cover the zooids 

Sensory in function 

Helps in propulsion in water 

Help in buoncy 

~""Q.llfuJ@s;mw UIT~c$IT.$@.i t.b 

fL~ITGlj fLIDJLi4s;'"1T 

_ffirflru rLfb~6 Q~Q) fL~Gljt..O 

_ffiiflru uSl~8idi fL~Glj t..0 
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• 102. Match the following: 

(a) Ashelminthes 1. Mesodermal segmentation 

(b) Platyhelminthes 2 . . Homonomous segmentation 

(c) Polychaetes 3. Heteronomous segmentation 

(d) Hirudenea 4. Superficial segmentation 

(a) (b) (c) (d) 

(A) 4 2 1 3 

K4 1 2 3 

(C) 2 4 3 1 

(D) 2 3 1 4 

Gurr®~~a; 

(a) ~~G~Q>uSl)ii~<Oiu 1. u)Ga:rrG u'n.nbb a;~LL.Orr B;a;t.D 

(b) L51 ffirrL"t Q ~ru uSl .!!J~<Oiu 2. G~~L.Orr~JDrrL.O!Oiu S>~LLDrrBia;tb 

(c) u rrro!L_@.s;Gir 3: G~L_11tG1JrrGJ!irrL?<Oiu a;~LL.Orrd;a;tb 

(d) ~®"tQflUJrr 4. (§Liurr.0.05l1L1ro s;~LL.Orr.$.s;tb 

(a) (b) (c) (d) 

(A) 4 2 1 3 

(B) 4 1 2 3 

(C) 2 4 3 1 

(D) 2 3 1 4 

103. (a) The dorsal blood vessel of Megascolex Marutii is non-cont~actile and has no valves 

(b) In Megascolex Maruthii, blood flows from anterior to posterior end through the 
ventral blood vessel 

(A) (a) is True but (b) is false 

(C) Both (a) and (b) are True 

Jlllf' (a) is false but (h) is True 

(D) Both (a) and (b) are False 

(a) GL.Os;<OiuGs;rrQ>.$00 LDrr([!)tq-u5lm C:P~®LiLl!D ®®~ ,rrirrmt.D BT®ri.J®t.D ~mQ'lLOlLIW!J)lt.b. Q.Jrrro~s;Gir 

.@Qi-!!511!..jt..D .s;rr~uu@~w~ 

(h) GL.Oa;ooGs;rrQ)d;oo u:>rr<10uru5lm 6Uu5lJil!J)ILiLl~ ®®~ J!irrro~~ru ®®~lLlrr6M~ C:PmQPQ'lmuSI: @@~§I 
LSlQ-r QP"1>6M Q.Jm 1J u mi.J.$1 !D~ 

(A) (a) dl ~~rrru (b) ?iQJl')J (B) (a) ~GlJgJJ ~mrrro (b) aifl 

(C) (a) LDJD!J)lt.b (b) .@11~@GLD a:ifl (D) (a) LOfbJDJt.b (b) .@IJ~@GLD ~GllJD! 
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•• 104. Worker termiter axe usually of this type 

(A) Blind and sterile males 

(B) Sterile females 

~Sterile and wing less females 

(D) Wingless males 

C:Gl.J "1 ro8xii; ITIT 8; o$6'6) ITlLJ IT~ a; roil Q U IT@Gl.J IT a; .@ru 6l.J 6'6)a; lLJ IT6l!T ~ 

(A) ®®® w!iJroit..D L.Dbl)L® ~m.$6'6)1}'lLJIT~o$roIT 

(B) wruL...® Gluoo o$GTil}"lLJ1T~a;roiT 

( C) L.Dru ® LD !iJ roi t..D .@!D 8;6'6)a;a;rofi> !D Q u 6lilrr a;6'6) ll UJ IT ma; roil 

(D) @wS;mB;a;ro!iJw ~oo a;GTIITUJITma;rorr 

105. Match 

Mouth parts Insects 

(a) Bitting and chewing 1. Mosquitoes 

(b) Piercing and sucking 2. Houseflies 

(c) Siphoning and sucking 3. Termites 

(d) Sponging 4. Butterflies 

(a) (b) (c) (d) 

(A) 2 4 3 1 

JJl'f'3 1 4 2 

(C) 3 2 4 1 

(D) 2 3 4 1 

Qurr@~a; 

QI ITlljg)J LI 4 6lJ 6'6).$ ~dl 

(a) e;iq..fi>~ QL.DQ)~t..0 Q.16'6).$ 1. Q e;rr B;8;&roir 

(b) ~60">'1Tu5lL@ f2....)l5leBTLD QJQ)a; 2. ffiL..@ rr8;a;m 

(c) ®wrolL© ~i:6l '8BTL.O QJ 6'6)6i 3. a;m ITlLJ IT m a;ro 
(d) ~fi>~GUJ@B;@it..D QJ6'6)e; 4. u LLITLD ~8:6la;ioir 

(a) (b) (c) (d) 

(A) 2 4 3 1 

(B) 3 1 4 2 

(C) 3 2 4 1 

(D) 2 3 4 1 
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106. Match 

Animal Larva 

(a) Star fish l. Aurecularia 

(b) Brittle star 2. Doliolaria 

(c) Sea cucumber 3. Ophiopleuteus 

(d) Ante don 4. Bipinnaria 

(a) (b) (c) (d) 

(A) 3 4 1 2 

(B) 4 3 2 1 

(C) 4 1 2 3 

Jlll!'4 3 l 2 

Gurr®~~s; . 

2...~rfl .@rot12...u5Ml 

(a) !!>L.a:~~IJ ill~ 1. ~rfl@_i<!rorflwrr 

(b) ~llt-JbL6~~'1Lb 2. GLrrQ)l Gw rrGmrfl w rr 

(c) s;Lru QQJro61T61 3. ~t5lGUJrr4~L.t.cr-w<Oiu 

(d) 4~1l}-LIT~ 4. muuL.Sl~GmrflUJrr 

(a) (b) (c) (d) 

(A) 3 4 1 2 

• (B) 4 3 2 I 

(C) 4 1 2 3 

(D) 4 3 1 2 

107. . Which one of the following are the first tetrapod vertebrates? 

(A) Pisces 

(C) Birds 

(A) ill~s;ro 

(C) U!D61>6l.J.$ID 
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(B) Reptiles 

JJl'f" Amphibians 

(B) f2il[frQJm 

(D) .@® QJrr~Q)ls;IOTT 
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• 108. Prochordates are exclusively------ dwelling organisms. 

(A) Lake 

~Marine 

(A) ~61 

(C) 8Lru 

(B) 

(D) 
, 

River 

Pond 

(B) ~©J 

(D) ®~nn 

109. Which is known as the connecting link between reptiles and birds? 

(A) Sphenodon 

(B) Ostrich 

(C) Varanus 

~ Archaeopteryx 

(A) ~ L.)c; ~rrur6irr 

(B) QJD®Ul.l t:;s;rr~ 

(C) f2._@lll.l 

(D) ~fr .$lalU rru tq..itl.$~ 

llO. Homocercal fins are found in 

Jlllf' Teleosts 

(B) Polypterus 

(C) Anapsids 

(D) Petromyzon 

LllD68'LD QJrTQJ ~@UL! @6i.JQJGJ1s; u)Qra;QflQ:i s;rr6lRITuu@.$lQr!])QT 

(A) L£.'°1lLirr~L..@s;m 

(B) urr'°1uL£.l)'W 

(C) ~65Trru61L..s;oo 

(D) GuL..a.,-rrmLDB'ITQr 
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111. Which one of these is a flying mammal? 

(A) Echidna 

~Bat 

(A) 6r..t"lL..Garrr 

(C) QQJWQJIT~ 

112. Gynaecomastism is seen in 

(A) Camel 

Jflf' Echidna 

(A) ~L.L.st.b 

(C) 6r..t"lL..Garrr 

(B) Draco 

(D) Squirrel 

(B) Deer 

(D) Elephant 

(B) wrrm 

(0) UJITIOD~ 

113. is a group containing flightless birds. 

(A) Odontognathae ""1f' Ratitae 

(C) lmpennae (D) Neognathae 

(A) ~aLrrmCL!TCJD~G~ (B) IJmq.LCL 

(C) @t.bQuQlCQT (D) ,t£1CUJ!TCJD~C~ 

114. Dipnoans possess------ type of kidney. 

(A) Pronephros ,,t' Mesonephros 

(C) Metanephros (D) Opisthonephros 

(A) QP6i!T#lL!)J)$1Ta;Lh (B) Jr>@ ell!).ffi1Js;t.b 

(C) t5lmelgi~11a;t.b (D) ~t5l'1oC~rrCJDLiC11rrw 
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• 115. Kangaroos are examples of------ adaptations. 

ll'f" Cursorial 

(B) Fossorial 

(C) Arboreal 

(D) Flying 

8irli!Birr@58iGiT------ ~8i6l.IQ'>LDUQ'>U Q8;rrmr@GiTGTT6l!T. 

(A) e;rrGQUrrrflUJQ) 

(B) GurrGGn)rrrflUJbi.> 

(C) .qi,frGurrrflUJQ) 

116. The connecting link between amphibians and reptiles is 

(A) Osteolepis 

Jlilf' Seymoria 

(B) Jamoytius 

(D) Euparkeria 

@Q)6l.I @@6l.lrT~~a;ml~ umr48iQ'><OTTll..jLD, ~IT6l.16l!T6l.l!D.Q51~ UQArr48iGn61T11..jt.b ~® C:s=IJ" GuJi>!D 

ruirrr6l.l 6l!T6l.I !D.Q51~ e!jlQl ~ ru rlil@i ( ~ bi.>ru~) @ ~ @® 6l.l rr~~e;®.$@it.b. f2i!!"IT6l.16l!T6l.I !D p5I JD® t.O @Q'l LC:lU 

~GnLD~~ igpfr @QJQ!l!TU4 urrrut.O 6T6l!T @ip5lu1.~1Luu@.$l~!D~ 

(A) ~wi.q..GturrGruut5lw 

(C) 6n<!FGLDGTTrfllLirr 

117. Dermal scales are found in-----­

(A) Birds 

Jlllf' Mammals 

@GUd>!Dlbi.> QLfrLDQ.> G8'~Wc$Gr 8irTQ!l!TUU@£l~ID6l!T 

(A) UJDQ)6l.lc$Gr 
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(B) ~LDrruJtq..UJW 

(D) 11..jurrirGe;rf111.Jrr 

(B) Reptiles 

(D) Amphibians 

(B) run-fr 6l.l QT 
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118. The main constituent in the outer layer of plasma membrane is 

/ M ucin (B) Lectin 

(C) Pectin (D) Chitin 

(A) u51~~~ 

(C) Qu.$iq.~ 

(B) QQ>8iiq.6'r 

.- (D) ms;iq.~ 

119. Double heli.x model of DNA was proposed by 

(A) Meselson and Stahl 

Jllff' Watson and Crick 

(C) Chargaff 

(D) Griffth 

iq...c;;n;isr.~-~m @uL.mL ~®® "'®~ c:!9!~LJ'.)i.:.115lGnQT @~~ @~Q)Jru ~~8i.$lUJ~ 

(A) u51s:rua:m LD!Droiw <Oit.Jurro 

(B) 61.JrrL.s:Q1.LO!fJ£))1.0 ~lf!B; 

(C) s:rrl'rs;rr.
0.u 

(D) ~rrl.".ut.51~ 

120. The wobble hypothesis of genetic code was proposed by 

(A) Meselson 

pf Crick 

(C) Griffth 

(D) Khorana 

(A) u51s:rus:m 

(B) ~rfl8; 

(C) &lrfl.".t.51~ 

(D) Gc!ilTl}"ITQTIT 
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• 
121. Dolicbols a.re 

(A) Proteins 

JJ1'I'. Lipids 

(C) Carbohydrates 

(D) Glycoproteins 

(A) LllJ~tD 

(B) Qa;rr@Lil...l 

(C) a;m'rGu ITQ)~L alJL 

(D) Ail m~rrl...l Cryrn.~tq.m 

122. Protamines are rich in 

(A) Lysine iJlf" Arginine 

(C) Tryptophan . (D) Mycin 

L1Crrrn.: .... LuSl~ru uSl<§~lU rrffi B;IT60i!Tuu@tb Gurr®Q-r 

(A) ~rufilm (B) <:!9lfr~Qf!Q1 

(C) lll-illuCurCum (D) mLDfilm 

123. Fluid mosaic model of plasma membrane was framed by 

(A) Schleiden and Schwann 

(B) Gorter and Grendell 

(D) Nageli and Cramer 

(A) Giog}'1i'Lm LD!i>g11i.D '7iit><§6llrrm 

(B) Ga;rrrrL.Lir LD!Dl.!Jli.b gilJ~Lru 

(C) ~r&.is;ir LD!D!!.)ltb ~.$s;Q.>~ 

(D) p;Cs;~ LDJDg)llD .$1ryrrLDir 
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124. The 'Central Dogma' of molecular biology is 

Jiii" DNA -+ RNA -+ Proteins 

(B) Proteins -+ Genes -+ DNA 

(C) RNA -+ Proteins __. DNA 

(D) Ribosome -+ mRNA -+ Protein 

~Ql.$&1.g11 fLuSl 6l 1U'°1Gi> ILGHi'IT 'Q>LDUJ.$ {:a; JT LU rr@' m Gs:UJru QJ W1 a11Tlgis: 

(A) ll\-.rorm. 'J. -+ ~rhm;irr.'J. -+ 41Jl'l>ri.Ja;ro 

(B) '-11Ji2>1i.Ja;m-+ ~~e;'1r-+ ll\--'1"6in.'J. 

(C) 4rr.'1'6in.'J'. -+ 41J~ri.Ja;m -+ ~-'1'6¥t.r•J. 

(D) ml}Curr<::6rrtb -+ ~Lb.~rr.'1"ar.'J. __. '-llJ~li.Ja;m 

125. Sarcoplasmic reticulum when stimulated causes the release of 

JJll" Calcium (B) Magnesium 

(C) Ascorbic acid (D) Glycogen 

(A) a;rrQi&hutb 

(C) ~wa;rrr'rt.Sl.$ GJ!irr;f.l 

126. Residual bodies are a type of 

(A) Mitochondria 

(B) Chloroplast 

(C) Golgi complex 

Jl"f' Lysosome 

(A) '1fllDL CLrr a;rreilrrll\-rfl UJ rr 

(B) ®CmrrC1Jrrt.SlQTrrii\>L._ 

(C) a;rrQ>~ Q~rr~u4 

(D) Q)Q)Cerr<::6rrlb&m 
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(D) £gi~rr~6in 
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• 127. Match the terms in column I with their description in column II and choose the correct 
option 

Column I 

(a) Dominance 
(b) Codominance 
(c) Pleiotrophy 

(d) Poly~eneic inheritance 

Code: 

~;) (b) (c) 

3 4 
(B) 4 1 2 

(C) 4 3 1 

(D) 2 1 4 

1. 

2. 

3. 

4. 

(d) . 

1 
3 

2 
3 

Column II 

many genes govern in single 

in a heterozygus organism a allelle express itself 
in a heterozygus organism a allelle express 
them selves fully 

a single gene influences many characters 

..!91LL6l.JQJQIBT I Qa;rr@.i;a;uuL...@miTT6l..ljbQ>io ._!91LL6l.Jg)QIBT 11-~L-Ar Ga;rr@.$c$uuL...@mQT u~~L._Qr 

• Gurr®~~ a:iflUJrrm uiJOJ>Q) 'T"®pi~ili. 

~LL6l.JQJQllT I 

(a) ~ri.J®~QrQllD 

(b) ~a=ir)b~ ~ri.J@) ~6if Q)LD 

(c) iS1 Gfft (! lU rrL...11rrt.Sl 

(d) urrQ$1Q~61fjB; QJ~ UITIJWUiflUJili 

®n5lu5@.,;m: 

(a) (b) (c) (d) 

(A) 2 3 4 1 

(B) 4 1 2 3 
(C) 4 3 1 2 

(D) 2 1 4 3 

1. 

2. 

3. 

4. 

. ._!91LLQJQ')QIBT II 

~® @jQllT~g)~ UQ) ~QrB;W ~L8;@j.il"1'wm 
GSi}IDL...rJC!11Q)s:s;Gfu ~uS1fila;Gltlru ~® ~w~w 
QQJ GJtl u@~§J.il JD§J 

Q ~L...IJC!11ooga;w ~uS1 ifl$Qflru ~ rJElillr@ ..!91 rowroa;~ ili 

C!a:ir~§J @@QJ§JLDrra; QruGlfluu@~§J&llD~ 

~(!!)~Qr UQ) @j'85Tri.J.!f;Q)QT UUJQrU@~~&lQr!f)QT 

128. Which one of the following is the starter codon? 

(A) UGA 

(C) UAG 

(B) UAA 

Jili!"AUG 

~Q.J!D(6\ro ~Q>QJ ~QJ.$a; C!airrLIT{;lflTai LJUJQJU@&l!J>~? 

(A) UGA (B) UAA 

(C) UAG (D) AUG 
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129. DNA element with ability to change its position is 

(A) cistron 

~ transposon 

(A) 

(C) 

(B) intron 

(D) recon 

(B) @m1Jrrm 

(D) Q,,-S;s;rrm 

130. The positive square root of the variance is called 

(A) coefficient of variation 

~standard deviation 

(C) standard error 

(D) sampling error 

Qurrt91 ~m G~rr®ULJ C:QJ!!JIUurrL....urQ-r l'.!Jl6'H.0 Cp;rrQ>LDlLirrm fOit>Qs;rrUJrr ~L.... IL@QJITQJ~JD® 

(A) as;rr'1't.5l5l1LIQJ'L.... aQJJ!)lurr@s;m 

(B) fOit>LrrmLrTL 1£.~GlUS'bbT . 

(C) fOit>LrrQrLrTL ®bf>!J)UrT@o$m 

(D) 6rr...Ot51Qflri.J ®"'!Ds;m 

131. Gynaecomastia is a symptom of 

(A) Down's syndrome 

.Jlllf" Klinefelter's syndrome 

(C) Turner's syndrome 

(D) Phenyl ketouria 

m~QT8;~rnnrrwurUJrr "'Q-r!D GJf>rru5lQJ' ~l!Sl®i61 

(A) LQ.jQr .f\QJ'C,,-rr...O 

(B) ~Qflb'6Tt.5lruLfOiu 81Qrc:11rr...O 
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132. Sex limited genes, whose phenotypic expression is determined by . 

(A) X chromosomes 

Jlllf" Sex hormones 

(C) Enzymes 

(D) Y chromosome 

urrru~Qi~LD ru~IJ'UJ!!)J ~Qi-B>ro .@ru!D!Drrbil G~rr6irroit.O L11DLIU~L1B>G>ir 6Tru!iJ!!Jrrbil ~rr~u5ld;B>Liu@$l!D~ 7 

(A) X ®a1Jrr<;LDIR:8rrt.O 

(B) urrbil ~rrirC:LDrrmB>ro 

(C) Gp;rr~s;ro 

(D) Y ®<;11rrGLDrrGemb 

133. The process that involves the transfer of genetic material from one bacterium to another 
through bacteriophage is called 

Jltt'I" Transduction 

(C) Translocation 

(B) Transcription 

(D) Transformation 

~® urr<'i;1a.ITlUJrrE>01615l@Ji>§I LD!i>Gwrr® urrSiia.ITlUJrr~!D® ~Qi-s;ro urr.$1.a.ITlCUJrr Cu~s;ro C!flQHD aLP>~Liu@t.O 

(!:PQ>!D.$® 

(A) !tt-lllTQTWLS;~Qi-

(C) . ~m tnrrd>!fil ~Q)tnp;~ro 

(B) uttt-GUJ@P>~ro (~) ttt-IJrrQi'w.tliflu~Qi­

(D) !tt-lllTQrWUITirCLD~QT 

134. Genes located on the same locus but having different expressions are 

Jiii"' Multiple. alleles 

(B) Oncogenes 

(C) Poly genes 

(D) Codominants 

~all @>G11rrCilllR:8rrt.Oa;~ro ~Qi-s;ro ~~LDJT>~mlilfm 461Trrro ~QJd>!filQi- QQJQf'luurr@s;'1ftQ> GQJgiiurr@s;ro 

s;rr~uu@.tlm!J)m 

(A) uroan.L..@ ~bi>rolroe;ro 

(B) L1!Dg11Cp>rrli.J ~Qis;ro 

(C) LIQ) ~Qi-e;ro 

(D) @g)~ ~~~§I @ri..l®tb ~Qi's;ro 
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• 
135. The technique of insertion of genes into an individual cells and tissues to treat a disease is 

known as 

(A) Chemotheraphy 

(C) Radiotherapy 

(A) ~C:wrrGp;Q"i5l 

(C) C:1J"tC:UJ rrG~fTL.S'I 

136. Genes with multiple effects are known as 

Jllf"' Pleiotropic genes 

(B) Complementary genes 

(C) Polygenes 

(D) Supplementary genes 

(B) Physiotherapy 

Jiii!" Gene therapy 

(B) t.Sl.+lC:UJrrG,,Q"t.Sl 

(D) ~Qi G~Q"t.Sl 

~Qis;Qf)Qi uQ>ruws; GeUJQ>urrLQ"IL ®i6l~li> Gs:rrru 

(A) t.SIQflC:UJrr"t11mSl5 ~Qis;Q'T 

(B) s;m:.115l'1flQwQiL1fl ~Qis;"1 

(C) urrQSl~Qia;Q'T 

(D) HuQflQwQiLifl ~Qis;.rr 

137. In enzyme that catalyses the conversion of an aldose sugar to a ketose sugar is classified as 

(A) lyases 

(B) transferases 

(C) hydro lases 

fi1f' isomerases 

4Q>C:urw Hrr5&Q>IJil>UJ £L<!urw s:rrMQ)IJUJrTS> LOrr!i>wili> Gs:UJQ>Q) ~6*r@li> Qp;rr~ 6l.Jm5@~Qlrr®Lb 

(A) Q)Q)C:ww 

(B) 1q.11rrQiw .°.Qurl<:11wa;.Tr 

(C) "'~L...C:grrC:Q>wa;.Tr 

(D) mCerruSIC:gGifu&.U 
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138. Immediate source of energy for muscle contraction is 

(A) Acetyl CoA (B) FAD 

(C) NAD 

(A) ~.fh:.iq.Q> CoA . (B) FAD 

(C) NAD (D) urr'1t>GurrGaJbirs;'1r 

139. Emuls ification. of fats is brought about by which of the following substance 

Jl'f' Bile 

(B) Trypsiii 

(C) Pepsin 

(D) Enterokinase 

(A) tSl;,~~ir 

(B) iq.ifh.J8lbir 

(C) Quu~ar 

(D) tOT6'rtq.C:l11TQ>a;CQTIOiu 

140. Which of the following is true about hypersensitivity type I reactions 

/ IgE antibodies . are involved in allergic reactions 

(B) Interferons are produced 

(C) Cytok.ines are released 

(D) T Cells are involved 

Q)~uurr Qffir~L..iq.'61L.iq. QJQ')s; I "6JQ)gy~Q> uri.JCaid>u~Q> £w.smrL li)~ QJ@, ~iflu.Jrrm~ 

(A) lgE 4~iq.urriq.a;ilr ~QJITA>LD Gii)Q>QTuSlQ> uri.JC:.S!i>.tln>~ 

(B) .@'*rLrr .°.Qu11rrma;a>QT &Q'".Ml!D~ 

(C) Q'>c!fLC:LtrQ>a;uSlara;Q-r QQJQflC:UJ!i>!J)Liu@.tl!D~ 

(D) T Qs:Q)s;ilr uri.J<:a;jj>.tl11>~ 
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141. The net production of high-energy phosphate bonds in aerobic glycolysis falls on 

(A) 4 (B) 8 

Jlllf 6 (D). 10 

dilTJD!DJD!D .i)giQi .$.$rrml"1'1SlQ\J ey>Q>i.O SL®QJ rr .$.,;u u@i.O "1"1@)6llU ~~6;-~JD!DQ) Qs;rrQirL 

.@Q'l~LHSlQ-r "1"Qir '88fl8;~6> 

(A) 4 (B) 8 

(C) 6 (D) 10 

142. Maximum number of carbon required for a ketose sugar to have cyclic structure is 

(A) 3 

,, 5 

(A) 3 

(C) 5 

(B) 4 

(D) 1 

(B) 4 

(D) 1 

143. The major type of excretory product seen in Aquatic animals is 

(A) Urea 

Jil'I" Ammonia 

(B) Uric acid 

(D) Creatinine 

.£rrQJrrw ~uSliflc$'1flQ:I £wa;'88rL "1"fbff> QJQ')s; ey:>5&llU s;~~u Gurr@L..s;ilrs;rrQ&Tuu@.il!D~ 

(A) 1Y>ifl1Urr (B) iy,iflS; ~uSlQ>tb 

(C) ~C:wrrQfllUrr (D) .ilifl1Urrl...1q.Qf!Q-r-

144. Gangliosides are classified as 

jllf" Glycolipid 

(C) Phospholipid 

(A) £)Q')Q;.$Cs;rrQS"lutSlL... 

(C) urrwCurrGSluLS"IL.. 
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(B) Glycoprotein 

(D) Phosphoprotein 

(B) .$1 "''"" .$Ca;rn-111 ff> Lb 

(D) urrwCurrL111p;i.O 
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• 145. Allergic reactions in the body are triggered by 

Jiii' IgE 

(C) IgM 

(A) ' lgE 

(C) lgM 

146. Leewenhock discovered the following cell 

(A) Nerve cells ,,- Sperm cells 

(C) Retinal cells 

(D) Oocytes 

(A) .tfilJ'lD4 Qsru.g;Gi'T 

(B) 61Sl.ffi~ Gsru.g;Gi'T 

(C) C1T1i+-mru G6rus;ro 

(D) ~ooql._@.g;Gi'T 

.. 
(B) IgA 

(D) lgD 

(B) lgA 

(D) IgD 

147. Finger like outgrowths in the small intestine are known as 

(A) Alveoli 

Jlllf' Microvilli 

(C) Trachea 

(D) Bronchiole 

filmt®L~ar LJQ) ~QiorQ!BflUJ b611Trua;m CurrarJD LD1i+-Li4a;'1flar GuUJir '1"arQT? 

(A) ~rub61C:UJrrQ>Q) 

(B) Q>LD.$CJTrrb61Q>mQ> 

(C) 1q-11rrM!1Urr 

(D) ugrrar.tlCUJrrQ>. 
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• 148. Match the following : 

(a) Microlecithal egg l. Petromyzon 

(b) Mesolecithal egg 2. Prototherian mammals 

(c) Macrolecithal egg 3. Insects 

(d) Centrolecithal egg 4. Eutherian mammals 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 2 4 1 

(C) 4 2 1 3 

JJll!" 4 1 ·2 3 

Gurr@~§J<"J;: 

(a) Q)L08;C:11rrG'1>5l~bi.> Q,OL6'>L 1. Q u L c:IJ IT 66) l.DS:IT 6in 

(b) i.DC:.~mGiou5l~Q> Q,OL6'>L 2. 4C:vrrL.C:Lrr~ifllU~ UIT~Ltq.Biiolr 

(c) C:wB;C:1JrrG@5l~ru Q,OLQ>L 3. !:j,8=5l <"J;Ql-

(d) Q5~l...(~irrrQQ>§\:'iQ) Q,OLQ>L4. ~~~iflw6in urr~L.iq.s;ioir 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 2 4 1 

(C) 4 2 1 3 

(D) 4 1 2 3 

149. Amphimixis mea.ns 

(A) Fusion of male and female gamates 

~ Fusion of male and female pronuclei 

(C) Movement of sperm towards ovum 

(D) Penetration of sperm inside ovum 

'4tb.
0

.t.SluSl.$~w' 6T~U~ 

(A) ~~ LDWl))lLD Gu~ C:a;L.Dl...@Birol~ @6l>QSOTQ.j 

(B) ~~ LDJD~tb Qu~ 4C:o-rr~~.$~6'>LLiuSlm@m~GlJ 

(C) 61Sl.[>§J ~arL~Q>!h C:.ffirr.$.$18: Q6Qi~~Q) 

(D) 61Sl.[>~ ~61iGTL~'1>~~ ~mm~~Q) 
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• 150. The trophoblastic villi is derived from 

(A) Amnion 

(C) Allantois 

(A) ~Li:l~UJITW 

(C) ~Q)QrLrruSlGiu 

Jll'f"' Chorion 

(D) Yolk.sac 

(B) Ga;rrlflUJrTQr 

(D) a;®~~Q.Ju~u 

151. Zoologist awarded with Nobel Prize in 1935 for organizer theory was 

(A) Ernst Haeckel 

(B) ASG Curtis 

(C) Toivonen 

; Hans Spemann 

(A) GTrrmGiuL.. G~.Sa;ro 
I 

(B) 6J.6TGu.~. a;ir11f.Giu 

(C) GLrru'.JGru rrQQJJEiUT 

(D) ~rrQrroiu roiu t.5 GwQr 

152. The secondary organizer that induces the development of eye is 

(A) Chorda Mesoderrn 

(B) Dorsal lip of blastopore 

~ Optic Cup 

(D) Lens placode 

a;Qirr f2....@rurr.$.s~~m Gurr~ ~IJ"~Lrrli> .ffilmQ> Vl®ri.Ja;~LO~~ ~o!ftQJITcS rumrr65l~UJ~ ~Qirr@ru§l 

(A) a;rrirLrr t.5GlmQLirli> 

(B) LSlmrrGiuGLrrGumflEiUT QP§l®ULIJD IL~@ 

(C) s;~ .$1~Emli> 

(D) QrumQ\> umB>GBirr@ 
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• 153. · A tadpole of frog resembles a fish in many features except that the tadpole does not 

(A) Excrete nitrogenous wastes in the form of ammonia 

(B) Possess lateral line sense organs 

(C) Possess venous heart consisting of two chambers 

~Possess paired fins 

154. If a tadpole of frog does not metamorphose and remams as such even then we cannot 

include it in Pisces due to 

(A) Presence of gills 

~Absence of scales 

(C) Presence of operculum 

(D) Absence of coilied intestine 

~QJQ'l~uSlEiir ~Q'lQ)t.Sl17L..Q'lL QJ'1TrT IL@ILOITWJDLD c::!91Q'lLUJITLOW c::!91QJQJiTCjD @@L..115l@li.b <:!9161l~ u5Eiirs;Glf1Eiir 

ruQ'ls;uSlQ> C!s:rr~~5Q8irrmro j)UJQ)rr~. IOJQm6eflQ> ~6U!Di6JQ> 
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• 155. Replac~ment of amptitated tail by lizard is by 

(A) Autotomy 

(C) Metamorphosis 

(A) e;UJQJmrr8:6l . 

(C) QJQTrT 12....@lOITJV!!)W 

156. 'Chalones' are tissue specific 

fltl'I' InhibitOrs of Mitosis 

(B) Activators of Mitosis 

(C) Inhibitors of Meiosis 

(D) Activators of Meiosis 

'Ce;Crurr6irre;6ir' 6TQJUQl6l.I ~s; 5rrfr[b~ 

(A) LDQl!!)(!Pc'liU U®LIQ)U ~@8;@)1.b c'lirTIJ"Qlil'fls;6fr 

(B) Parthenogenesis 

~Regeneration 

(B) 8)QrQflu51~uQu®.$.$i.b 

(D) @i:pu4 ~L.4 

(B) LD'1>.(D@c'liLI LI®Limu N.S®QS18i@)tb s;rr17Ql8fla;ro 

(C) @)Qr!])Q> U®LJQ)U ~@8;®1.b 8:ilTfJ~c'li6iT 

(D) ®Eiirr!DQ) U@)U'8>U UI.S@)bl51.$@)i.b c'lifTIJ'~c'li6iT 

157. HPV virus causes 

(A) Breast Cancer 

(B) Colon Cancer 

(C) Liver Cancer 

~Cervix Cancer 

~6. t51.6l5l Q)QJIJ"W .@ruQJma; 4iiJ!))ICp>rrli.J& e>rnJQl8fl 

(A) LDrrr'rua;u 4Ji:>~C.!f>rruJ 

(B) @)LQ> 4Ji>g11C.[brriU 

(C). .,.Q>~17Q> 4!i>J!.)IC~rrli.J 

(D) c'li@Umu 6l.JITuJ Ll!i>~C,[!irTuJ 
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158. Which one is not a factor of the a biotic environment? 

(A) T~mperature (B) Water. 

Jfl'f" Consumer (D) Sunlight 

@%lru Q'~ fLlDl1J!DJD ~~.ffilQJru.9; a;rr11~ .@<iuQ>ru 

(A) Gruuut.b (B) fhGi4T QflJf iT 

(C) @ai~GQJrrir (D) ~iflUJ~ml 

159. The Pyramid of numbers is not upright in 

(A) Grassland ecosystem 

(B) Pond ecosystem 

(C) Forest ecosystem 

J1lf Parasitic food chain 

GHllm~d;Q)a; a:rrir~%> i5l1JuSl@a;m .@ru!DiDJ<iu <;fDIJITo$ .@(!!>LIU~QJQ)Q) 

(A) yruGru~ ~~,!b]mru LDGi4TLrut.b 

(B) @)GITLD ~~.ffi16'JQ) LDGi4TLrut.b 

(C) s;rr@ ~~,!b]6ilru LDGi4TLrut.b 

(D) ~L..@Gi4r~ fLllllUT6l18: a:rf.JffilQ)l 

160. The correct definition of 'Biosphere' is 

(A) 

(B) 

(C) 

IJllf' 

All living organisms on earth 

All abiotic factors on earth 

All plants on earth . 
Sum of all ecosystems inhabited by living organisms 

(A) IJuSllDlru fLmro ~Gl>m~~ fLlDlrfl6'Trf.Ja;mlQI G~rr®LiY 

(B) IJuSllDlru fLITTQT ~mm~~ fLlDlr11i>JD 8ilTIJ~B;~W Q~IT@)LIY 

(C) IJuSllDlru il ... .ronm ~Q)6'T~~~ p;rrrul]ri.J,g;QflQi Qp;rr®Li4 

• 

(D) IJuSllDlru rLmQT ~mm~~ ~wJblQ)Q) LDGi4fu;uri.Ja;(.5i..O ~QJ!Dp5lru Q.Jrr@t.b ~Q)m~~ 

11.....uSlrll6UTrf.Ja;~Qi Qp;rr@)LIY 
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• 161. The percentage of solar energy received by the plants from sun and fixed through 

photosynthesis 

(A) 1 % 

(B) 2 % 

,t' 10% 

(D) 5 % 

(A) I% 

(B) 2 %. 

(C) 10 % 

(D) 5 % 

162. Pollutants disrupts ecosystems because 

(A) their components differ from those of natural substances 

(B) only humans have uses for them 

JI!'{' there a.re no evolved mechanisms to deal with them 

(D) their only effect is on ecosystems not humans 

B'i!DW ~~QS!ru uru ~~wrr~ wrra:rr8;£ls;ro B;ruS;s;uuL..(f) ~Gl)GU ~WJUJ~ Gp;rr@)~Q)UJ uru~~rf.JB;rolru 

urr~uuQ)Ltu Ge:u:..i£lar!D~ 
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• 163. Collecting, compiling and presenting information about population is called 

(A) Exobiology 

Jlllf' Demography 

(C) Oceanography 

(D) Synecology 

~QJJ~Q~ITQ).9; udJr6lUJ ~8;QJruB;Q/'1'T G6a;rT1~ ~®ri.J<'ilQ/~~'2' ~Ji>~ :(!58;Q.Jru8iliill'1'T Qa;rr@UU§J ~6i.16l5l~w 

~~w6i8juuffiiw 

(A) <e;r.$G<OTI.lrr SL~lflUJru 

(B) Qd!LDrr<'ill]'m.51 

(C) ~6Gmrr.$11Jrri5l 

(D) 61me;Ji>©l®W~UJru 

164. ·A small particles of solid or liquid substances suspended in the air is called 

Jiii" Aerosols (B) Smog 

(C) Fog (D) Dust 

(A) !CiTC1J"rr<!6rrru. (B) WLDIT.$ 

(C) urra; 

165. The term Sustainable Development was coined by 

Jiii" Barbara Ward (B) Robert Repetto 

(C) Rio de Janeiro (D) Odum 

(A) UITrTUIJ'rT QJrrrT@ (B) 11rrurh:_ QguuGLrr 

(D) ~LW 
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• 166. CompetitiQn between Species is high if they occupy the same 

J/ Niche 

(B) Habitat 

(C) Community 

(P) Ecosystem 

(A) .ffil6 
(l3) QJ JT@uSl LLD 

(C) 6(!P ~mLIL.b 

(D) @5~UJ~G~rr05~ 

167. Which of the following is a producer? 

(A) Zooplankton 

iJI!' Phytoplankton 

(C) Bacteria 

(D) Fungi 

(A) GlSIQ)ri.i® uSl~Q)Qlc$Qr 

(B) ~rTQJI} uSl~Q)Qlo$Qr 

(C) LI IT 8; te.ifl UJ IT 

(D) ~~Q)6 

168. Anama.lai Wild.life Sanctuary is located at 

JJ""'coimbatore (B) Tiruppur 

(C) Tirunelveli (D) Erode 

'~g)6lJTL1)6J>Ql t!fl}QaTITQ)UJ~~ ~@Ut.SILLD 

(A) C:e;rrUJL.b4P,~ir 

(C) ~®Qp;ru~EilSl 
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(B) ~®Lildiir 

(D) r-rC:l}"rr@ 
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169. Species occupying same geographical area but different ecological niches results in 

Jiii' Sympatric speciation 

(C) Parapatric speciation 

(B) Allopatric speciation 

(0) Statispatric speciation 

• 

Sl® .@QTL.b, 9C:IJ' ~"6luSlUJu u®~uSlQi Qa;rrQiur@ ~QTrrQ> QQJQ.iC:QJ!Df QJIT~L~~Q> QJtr@QJ~rrQ> ~!Du@L.b 

bl5)Q)QTQj 

(A) 61L.bum.'._rfl<'ii .@mtnrrc!i;s;L.b 

(C) UITIJ'ITUrrL.rfl& j)6'0Tu:irr~L.b 

(B) ~Q>CQ>rrurrL.rfl8i .@QTLDrr.$a;L.b 

(D) <O'iuLrriq.Giii.lurrL.rfl& j)mwrr.$B;L.b 

170. The term used to denote fossilization of faecal pellets of animals is 

~ Corpolites (B) Biodast 

(C) Burrows (D) Pseudo fossils 

171. Which of the following sentence/sentences is true about Batesian Mimicry 

Advantage to predator and poly 
t 

(i) 

(ii) 

(A) 

(C) 

The pala table and unprotected species imitates the unpalatable and pl'Otected species. 

(i) and {ii) are true If" (ii) alone is true 

(i) alone is true (D) (i) and (ii) are false 

(i) CQJLalLUJrr@tb w!Dgiii.b @airr&® JliEiilrmwg,UJ f>fl& B"ntq-UJ~ 

(ii) LQur"'1'~ f>®Jbf> LD!i:>£P!tb urr~&lTMLILILTTf> . .@mtb Curr'°1UJrra; fLilifrQJIJT~,,a-.rrf> 1..0!i>gi1tb 

(A) 

(C) 

SfZ0/16 

UIT~&ITMUULL .@Qll'LDIT& .ffilq-~f>Ql 

(i) 1..0!f>gJIL.b (ii) &rfl 

(i) u:iL.@L.b &ifl 

(B) (ii) tnL.@tb a:ifl 

(D) (i) LOJD£Pltb (ii) ~6l.l£PI 
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• 172. The first living organisms/cells that obtained energy by fermentation were called 

(A) Parasites 

JJil'I' Chemoautotrophs 

(C) Autotrophs 

(D) Saprophytes 

QP~~,.u G~rrmJ!SlUJ ~u51fll~ri.ia;m I Gs:roa;m s;fllLOu Gurr@L...s;m L1"1fl~~u Gurrriil®6l.J~66l®.!.!;~ ~!DJDooru 

Q u di w,9; Q s;rrGiiGTLm~ .@6i..i6l5lf1itb .,!91Q)~ LI u rT 

173. ABO blood group in ma n is cited as an example for 

Jiii"' Balanced polymorphism 

(B) Transient polymorphism 

(C) Isolation 

(D) Founder's effect 
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174. A mixture of Amino Acids when heated to 150-1~0°C produces thermal peptides called • 
(A) Microspheres 

~ Proteinoids . 

(C) Coacervates 

(D) Naked genes 

~uSlCmrr ~uSlbUrf.Js;mw 150-l80°C ®L-IT&@;QJ~Qr ('.!PQltD Qu!Duu@tb QQJUU QuU6f>L8)~ @ru6"6lp;tb 

~m~S;a;uu@tb 

(A) mtD8;C1Jrr.°o~t51UJirs;~ 

(B) yC1JrrL.!itmrnu L.a;ro 

' 
(C) Cs;rr ~s:irCru Li$6i'T 

(D) JblfrQJITEiUTlDrTEi3T ~Qr.SQr 

. . 
175. Urey-Miller created amino acids "in-vitro" by mixing which of the following compounds 

(A) Glycol, nitrate and carbon 

gllf" Methane, water vapour, NHa, H2 

(C) Methane, H2 and H20 

(D) Formaldehyde, hydroxylamine 

.«wa;~L if/ii~ C!f>Q)& 8i\_~c$'1ftQr s;Q)mQJmUJB> Q.srr~@ ~rfl - uSlQ:>Q)ir "Qs:Q:> QrulDlfluS1ru" ~uSl(;Qrrr 

~uSlQ)ri.Ja;mm C~rr!i>{l)l6"6l~bl!Tfr 
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• 176. Consider the statement: 

A: Black spots in butterflies and caterpillars are cryptic structures to distract predators 

R : It is a type of protective mimicry 

/(A) and (R) a~e true and (R) is the correct explanation for (A) 

(B) (A) and (R) are true and (R) is not the correct explanation for (A) 

(C) (A) is true and (R) is false 

(D) (A) is false and (R) is true 

£wa;aiarL ~lDQ'l!D c$6U~ : 

6'1..lDIJ)I A : ul...Lrrt.hy,561 LDW!J,llt.h ~mt.h ll_u5lnla;mlbi> a;rrQllTuu@t.h B>Q9Li4 4mmls;m .$1ITlu~.$ 

~~LDu4a;GTrra; t0r~ITla;mtu.6l®Jf>~ ~~Hf :il®uu ~u4u ~urrrolu ulMRrr~u Gurt>roimm~ 

8>rTl}"6mtD R : br~nl&ffilLuSl®Ji>~ urr~a;rrB;a; ~u4 aurr'6lu ulMRrr4 ll_loTHiTT~ 

(A) (A) LD!iJ[J)lt.h(R) e:ifl ~LD~t.h(R) Gi"T~u~ (A) 6'61Jb® e:nlUJrrm 6'6lmB;a;t.h 

(B) (A) LD!bgitt.h (R) e:rrl aLD~t.h (R) Gi"T~U~ (A) 6'6l!i>® e:rflUJIT6ilT 6'6lm8is;t.h ~QJQ) 

(C) (A) e:ifl ~6lJTrrbi>(R) ~ruw 

(D) (A) ~6U!J,ll ~mrrQ> (R) a:ifl 

177. Which one of the following scientist critisied Darwin's theory of Natural Selection? 

(A) Muller 

(B) Wallace 

siJf"' Adam Sedgwick 

(D) Huxley 

(B) QJ ITQ)Qu 

(C) ~Lt.h QgL._~6'61.$ 

(D) ~.$(0iu~ 
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178. Which among the following has no sting? • 
(A) Apis dorsata 

(B) Apis indica 

(C) Apis florea 

Jlill' Mellipona irridipennis 

.(ws;rr~L.O ~!b,, c,,tiluSlru QB;rr@.$® @rug>Q>? 

(A) ~t5lau Lrrr'rGc!FLLrr 

(B) ~ tSl w @Giln.11-s;rr 

(C) "1"1.51w t51C~mflu.Jrr 

(D) uSla>~CurrQTrr @rrllj-t51u.J6lrw 

179. The mediterranean breed of fowl among the following is 

Jiii' Minorca (B) Cornish 

(C) Brahma (D) Wyandotte 

CBirr~ 6U"6>s;s;rolQ.i 0LDllj-Ld~l]'11flu.J6lr QJQ>a; "'"~? 

(A) uSl Cmrrrr s; rr (B) s;rr rr Glfl w 
(C) t5l l]ITlDIT (D) "6Ju.Jrr'1rCLITL 

180. Which is called as mother of pearl? 

(A) Periostracum 

(B) Prismatic layer 

"" Nacreous layer 

(D) AMA 

QP~Gn rLifrC61TIT@ ~~7 

(A) QurflCu.Jrrliiullj-CJJ.M;L.i:> 

(B) tSlrflwC:LDL...ut-5 ULQ)LO 

(C) p>rr"1rflu.Jw uLQ>LD 

(D) 'iJ".c;nb.'J. 
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ii . The weight of the gonad relative to the body weight is known as 

(A) Condition factor 

(B) Ponderalindex 

JJi'f""' Ganado somatic index 

(D) Food conversion ratio 

(A) JD6ilr68flgiru8; e;rrlJ~ 

(B) u rr~nq.IJQl "1"EiiRIT 

(C) @QT L!!)JLI4 ~ 12....LQl ~QOL ~6lil!r 

(D) l>QJ QT LD rr!D !!) ~ 6lil!r 

182. Which one of the following is a fungal disease of silk worm? 

183. 

(!IS 

~ M uscardine (B) Flacherie 

(C) Grasserie 

(A) LD~a;rrr'rQ"lL6iJr 

(C) .$l1Jrr~a:ifl 

Plasmodi um malariae ca uses 

(A) Tertian malaria 

(B) Ovale malaria 

Jli1f' Quartan malaria 

(D) Malignant malaria 

t5lmrrwC:1.Drnq .. 1Utb LDC:ruiflC:lU L(!!l6Urrdi~ru~ 

(A) QLr'r~lLI6iJr 1.DCrurflUJrr 

(B) ~(!QJQ) LDa-uifllUIT 

. (C) ®rurrfrL6iJr 1.DC:rurfl1Urr 

(D) LD rrGIS! .$QT 6iJrL. LD C:Q) ifl UJ rr 
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(D) Pebrine 

(B) :.t51QTrr6a:rfl 

(D) QuuQ"ll)"Qi-
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184. The intermediate host of paragonimus westermani is 

jJI' Cray fishes 

(C) Cattle 

(A) .$1C:ll t.O~d;ro. 

(C) t.0rr@a;ro 

(B) Dogs 

(D) Sheeps 

(B) Jl)IT!Us;ar 

(D) Ge:LbLO!DJ ~@<'!;ro 

185. Match the following and choose the correct option 

(a) Schistosoma mansoni (1) Blood vessels of urinary bladder 

(b) Schistosoma japonicum (2) Bile duct 

(c) Opisthorchis sinensis (3) Portal veins and mesentric vessels 

(d) Schistosoma hematobium (4) Blood vessels of large intestine 

(a) (b) (c) (d) 

Jiii' 4 3 2 1 

(B) 3 4 1 2 

(C) 2 1 4 3 

(D) 4 1. 2 3 

(a) 5lwC:ur<!s=rrt.0rr t.0rrQ-TCs:rr611'll (1) 51!1)1.IBir Q)uuSlQ-r @llf,~JTilT'1Tr6.is;ro 

(b) 51G>iuC:urGs:rrtnrr siurr611'll.$a;Lb (2) i5J~(h ~fr JbITIOTTr6.J&"1° 

(c) ij)Ui5IW(hITir£w Q)8'QQJQ15lw (3) CurrirLQ> 6lg)I}' LD!i>l!JILb t.OG6"Tutifl& .mrr'1Tr6.is;ar 

(d) 6lwCLrrGs:rrLOrr ~LDLC:Lrrt5i1ULb (4) Gu@r&i@'iLQ> @ll~fh Jbrrmr&ia;ar 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 3 4 l 2 

(C) 2 1 4 3 

(D) 4 1 2 3 

SIZ0/16 72 

• 



• 186. The Eri silk worm is 

(A) Bombyx mori 

(B) Antheraea aasama 

~ Philosomia ricini 

(D) Attacus cynthea 

IO)"rll 6l.Jffi8j UL@ Lj@ ~@? 

(A) urrlbmu$'1iu Gwrrill 

(B) ~~Gl)UJIT ~'1il.>"'1JITLDIT 

(C) .°.i5lbi>CrurrGa:rru5lUJrr ill$6l~ 

(D) ~L..Lrrffis;biu 61.dJ~GUJ 

187. Rhynchophorus ferrugineus is a pest of 

(A) Rice 

Jill"' Palm trees 

.·I~, G)Dbi> 

(C) u~rn LDIJTf.is;~ 

188. Aluminium Oxide used as insecticide is a 

Jtlif' Physical poison 

(B) Protoplasmic poison 

(C) Respiratory poison 

(D) Nerve poison 

(A) .@UJ !f>i.51 UJ Jf>6lft . 
(B) LjGl}"rrGLrri.51 '1Trr a= JD6Br 

(C) ~6l.J rr 6 Jf>6lft 

(D) Jf> !JLD Lj l.D ~LQ) Jf> 6lft 

, 
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(B) Sugarcane 

(D) Cotton 
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• 189. The Scientic Name of Lac Insect is 

~ Laccifer lacca 

(B) Apis dorsata 

(C) Musca domestica 

(D) Vespa cinca 

&11J"B>® ~8:5luSlm &1!l5161Sl1LJru Gu1LJfr 

(A) ~51ufr Q>d;a;rrs;rr 

(B) ~·L51~ un'rC::<'fl...Lrr 

(C) w~s;rr QLrrl1l~~a;rr 

(0) QQJ~Urr 5l~s;rr 

190. The order Odanata includes 

Jiii" Dragon flies (B) Cockroaches 

(C) May flies (D) Stone flies 

G~rr®~ ~Cur<!GITLIT mQJS: lfrrfrJi;~ ~8:51 @Gllri.ls;m 

(A) ~t.OL518im (B) .$1)uurrm \d.651.$m 

(C) C:w \d.651 s;m (D) s;ru ~S=51a;m 

191. Termites a.re considered to be 

(A) Ectoparasites 

(B) Endoparasites 

(C) Epiparasites 

~ Social parasites 

(A) ~ciC::Lrr C!ul)ITmlfL 

(B) ~~LIT C::ul)l'T'1l8'L 

(C) '1't.5lC::ul)rrOill6L 

(D) C::err5l1LJ'1J <:urrrrmlfL. 
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• 192. The reason for complete absence of amphibians in oceanic islands is 

(A) Moisture 

Jllf' Salinity 

(C) Temperature 

(D) Lack of vegetation 

(A) R'I) UtblD 

(B) ILQJ r'r ~6i!TQ>LO 

(C) QQJUU.ffiJ6r>Q) 

(D) ~ rrru IJTfiJdi m!D j!)fbIT ru 

193. Whic? one of the following is a oceanic Island? 

(A) Formosa 

JJllf"' Galapagos island 

(C) Japan 

(D) Madagascar 

(A) ."ourrri"GL.Orre:rr · 

(B) a;rrQ>uCe;rrifu /,Q.J, 

(C) ~uurr6i!T 

(D) t.DLdilTQodilTrT 

194. Which of the following is a biotic resource? 

ltJlf" Coal (B) Land 

(C) W..ater . (D) Minerals 

(A) .ffilQ)Sis;ifl (B) JblQ)lb 

(C) ~fr (D) ~rr~u'1r 
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195. The Chinchillas, Llamas, Rheas are characteristic forms found in 

(A) Antilean sub - region 

(B) Mexican sub - region 

(C) Brazillian sub - region 

jff Chillian sub - region 

(A) ~'1liollll-Q)6i!J ~61)QA!T LI@)~ 

(B) GL.OB;filB;s;oo ~61)QRIT LI@)~ 

(C) t5la1Jfilrubl51UJ00 ~6J)QA!T LI®~ 

(D) 51rubl51UJ1iir ~6J)QA!T LI®~ 

196. Fresh Water seals, Phoca lbirica is found in 

(A) European sub - region 

(B) Mediterranean sub - region 

,t' Siberian sub - region 

(D) Manchurian sub - region 

p;oodrr 6fio - •0.(]Lirra;rr @t5lrTlB;s;rr ~ri.J@) s;rrlilR!n.JLiffiltb? 

(A) mGl]rrUtSlll..J ~61)QA!T U@)~ 

(B) 'h.olll-L.LGl]~lU ~~QIOT LI@)~ 

(C) 61)8l.)ifllU ~61)~ LI@)~ 

(D) L.OOO~tTlUJ ~61)QA!T LI@)~ 

197 . . Balanoglossus is popularly known as 

(A) Sea potato 

(C) Sea snake 

(A) a;Lru L®Ql'1T 

(C) a;Lru urrtb4 
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Jiii(' Tongue worm 

(D) Earth worm 

(B) ,!f>IT8i@)LI4@ 

(D) L.0'1liol 4@ 
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• 198. Pu - 500 is a 

(A) Nuclear Reactor 

J]llf" Wind Mill 

(C) Solar Cooker 

(D) Silicon Solar cell 

Pu - 500 6T~u~ 

(A) ~~a;Q)~ 

(B) s;rrfbJDrrQ)Q) 

(C) ~ITlUJ ®Bis;r'r 

(D) S1rol8>a;rr~ GUQ)e; ~iflUJ Ga:ru 

199. The headquarters of International Plant Genetic Resources Institute is located at 

(A) New Delhi ~Rome 
(C) Germany (D) Israel 

(A) Jbl~Guurol 

(C) Gt£r'rLD~ 

200. Calori?c value of biogas is dependent on 

(A) · Methane 

Jiii!' Carbon dioxide 

(C) Hydrogen Sulphide 

(D) Nitrogen 

(A) i?~C?f>€6r 

(B) B; ifl UJ L.6l Q) GlJ ITl.l.l 

(C) ~~LI)~~ 66i.l.".Q)u@ 

(D) Ql.[bLIJ~~ 

(B) al)mb 

(D) @IOit.lCiJru 
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Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. This Booklet has a cover (this page) which should not be opened till the Invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are 
requested to check whether all the questions are there in series without any omission and ensure there 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall 
be reported to the Irivigilator within first 10 mmutes. 

3. Answer all questions. All questions carry equal marks. 
4. You must write your Register Number in the space provided on the top right side of this page. Do not 

write anything else on the Question Booklet. 
5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. 
6. You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or 

Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per Commission's notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case, you feel that there are more than one correct 
response, mark the response which you consider the best. Io any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @ , @. © and@ against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choioe for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item,@ is the correct answer, you have to mark as follows : 

@•©@ 
9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 

this Q.uestion Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over vour Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only after the Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 
11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 

the Commission may decide at their discretion. 
12. In all matters and in cases of doubt, the English Version is final. 
13. Do not tick-mark or mark the answers in the Question booklet. 


